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���������� � ��!���� ����� "��#�$���#�%�. 
������� ���#���� �$�����
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5�#����"��� � ,�"����� – �������� ����"�� (� �%�. 
$��%� ��� �"��"�"��'"
� #�*���%�, ,��%"��$���#�%�, %���"���+ #�*���%� ��� ��#�$�+�"��'6 �* 7�-
�"�..

����"�� "�#����"��� � ,�"�����, �"��8� 8�����, �#�'" �#��� "��)%�
� ���"�#� #��8�* � ��#�$�+�"��'6�* 7��"�. � ���"����� "��#�$���#�7��%�8�
(�"�"�c"�7��%�8�) ����������. � ��#�$�+�"��� 7��"�. ���&*�$�#�, 7"�&� ��-
�"�#� ���9�� � ���"����� ���������� � ��"������) � ,"�# ���"����� ��� #�$-
�����# � #������ ���9��* ����#�"���, �����#��, �&:�#�. �� %�!$�� ���"�#�
#�!�" ���*�$�") � ���"����� "��#�$���#�7��%�8� ����������. �����#��, #�-
*���7��%�� ���"�#�, %�% �&�7��+ #��"��%, ���� �� �7�"���") ���� "�����,
��%�8$� �� ���$�" � ���"����� ����������. ;���� "�8�, (���.� �%�+ �7���+<

.
����%��� $�%� ��, 7"� #�*���7��%�� ���"����� � � ����������+ ���"�#�, ".�.

� ���"�#�, �� �&#�����'6�+�� � �%��! �'6�#� "���#� �� ��6 ��"��# , �� ,���-
8��+, � "�7����# ���#��� ������� ��$�"�� �  ������ �&����������+ "�7���")'
7��� %���7��+ ���#�!�"�% ���#���. =�� ���"�#� , ���"��6 �+ � N 7��"�.,
”���#� �� ���"�” ����$%� 10N . =�� "��#�$���#�7��%�* ���"�# #��9"�&�# 7�-
��� 7��"�. �����"�� 7���� <��8�$�� NA = 6, 02 · 1023, ��,"�#� ���#� �� ���"�
��#��8� &��)9� ���#��� ��6 ��"������� ��������+ (1017−1018�). ���$�"��� "�-
���#� ����%��� ���"�����7�" ��9�#� �&�$����#� ���"�. -���#�"��# "�%�+
���#��.

���") � ���"�#  �#%��"�# ����$� ��*�$�"�� #���+ ����$ ,  �������-
��+ 8� �# . � %�%�+-"� #�#��" ���#��� #� ���#��# %��9%� � #���8� ����$�
� 8� �����#����  �������" ���) �&:�#. >"� "���7��+ ���#�� ��"���������
����������, %�"���+ #� 7��"� ��&�'$��# � �����$�����+ !� �� � �� "��)%�
�� ,"�# �&:�%"�. 
$��%� � ���"��"�"��� � "����#�+ ����%��� 7��� %�%��-"�
���#� 8� $��!�� �����, � ���7�# ��#����� ���)��, ��&��")�� � #���# ����$�.
��" ,"�" ���.��� �!� ��%"� ��%�8$� �� ��&�'$��. � "�7%�  ����� �&�$����8�
���"� �� ���6 ���� 8� � � #���+ ����$ - ,"� 8�8��"�%�� (��%"��.��, %�"����
7�� ��7�+�� #��������"�� � �� #�!�� �� �����#�") �� ���#����. �����$���
�&�"��"��)�"�� � �&:�����", ��7�#� � ”��&���"����*” #��9"�&�* ���#��� #�
��$�# , 7"� ���"�#�, ���$��"�������� ��#�+ ��&�, ���*�$�" � ���"����� �������-
���. 5�%�# �&�� �# , ����������� ���"����� ���"����" %�% ���"�����, � %�"����
���� ��� �� $�� ���*�$�" � ����������� �" �%��! �'6�+ ���$� ���"�#� ���
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���"�#�, ��*�$�6 ���� ��� ����$������* ���"�����*  ��7����* ���9��* ����-
#�"��� � ����$������+ ���"�����+ "�#����"��� �%��! �'6�* "��. � ���"�����
"��#�$���#�7��%�8� ���������� #�%���%���7��%�� ����#�"�� (".�. ����#�"�� ,
� #����#�� � ��#�6 )' #�%���%���7��%�* ���&����) �� � #���'"�� � "�7����#
���#��� � � ���"�#� �"��"�"��'" ��"�%� �'&�8� "��� (��"�%� "����, #���� ,
 ���$� � ".$ .) [1]. 
8��#��� 7���� ���"�# �$����"�����" ,"�#� ������' . �
$��8�+ �"����� , �� ���&�� �� �%��! �'6 �8� ��� #���, � �����' �7���$), �&�-
 ��� ��6 ��"������' ������������* ���"�# ( ?�#�� � �� �"#��(���+, !���"��+
� ���"�"��)��+ #�� � ".$ .).5�#����"��� %�% %���7��"������ *���%"����"�%� �"����� ��8��"��"� "���
��9�� � �&�*�$ ����� � �&��"���� "��#�#�"��. 
$��# � �����* �� $�"���+
"��#�#�"��� &�� @�����+ (1592 8.). ?�#�"�# , 7"� "��#�#�"�� &��� � �&��-
"���  �$��8� $� "�8�, %�% �'$� ������, 7"� !� ��� � #���'". 
%��7�"��)���
����#���� "�#����"��� ���9�� ��9) � �����+ 7�"���"� XX �. ���� $��� �
,�"�����+. 
�� �� ��$$��"�� �������$�"�����#� �������"�' , � ���&��� $��
� #������ ,�"����� ��".

����"�� ,�"����� � ��# "��#�� ”,�"�����” &���
���$��� ��#�.%�# (� �%�# -.A��� ����# � 1865 8., ���7�# � ��#�8� ��7���
,�"�����  ����� ��!��+9�� #��"� � "��#�$���#�%�.B��)' ���"��6 �+ ��&�"� �����"�� �&��!$���� "�#����"��� � ,�"����� %�%
�������* ����"�+ (� �%�.

���$�"������") ,"�* ����"�+ � ���7��� �* 9���-
%�8� �������"������� &�$�" �������� ������� � ������'�"�������� �� ��-
�%��)%�* ���#���* � �� ��* �&���"�+ (� �%� � �#�!��* ���%.

1 C1D E1FGHIFG JGJ KGFGJH1F4LH4JG FG03M01L
-3MNM LMLHMO34O

����"�� "�#����"��� � �����$�����+ !� �� �� "��&��" �&:�������. A�8$� #�
8�����# ”*���$���” ��� ”"�����”, "� #������� ��$�� �#����# , 7"� "�#����"���
��!� ��� ��9�. ���#� �����#�, � �����$�����# �&�*�$� "�#����"��� ���"�-
���" %�% %���7��"������ #��� �"����� ��8��"��"� "���. 
$��%�  � %�!�6 �+��
�7���$���")' ,"�8� ����"�� �"��" ������� , $�� �"��"� �� %�"���� (� �%� ��-
"��&������) &���� $��*��" ��".

����7����# ��%�"���� � ,"�* ��������. ���
�* (��#������%� � �&��!$���� .������&�� �� ���$���") ��"���7��%�#� ��"�
�� ��"�� ���%�.

1. � �&��"���� �����8� "��#�#�"��, %�% �!� 8��������), ��� ���'" � �#�-
��# @������. ������9���� ����� @������ #��8�7�������� � ������9���"��-
������ %���"��%.�� "��#�#�"��� �� ������ � #���") "�#����"���. 
$��%�
��������") ��%� ���� ,"�* "��#�#�"��� ���%"�7��%� &��� ���� #�!��. ��
&��� ��&���� �������� "�7%� � �� &��� ��"�������� 9%��� "�#����"��.

5�-
%�# �&�� �# , �����+ ������ - � 8��$�����%� "��#�#�"���.

� 1724 8. �#�"��$�#�%�+ (� �%-�'&�"��) = .P����8�+" ���$��!�� �����")
 � ���) 8��$���� "�#����"��� �#��� ��$� � �)$� � ��9�"����# ����"�# . ?�
�"���' �������' "�7%� �� ������ "�#����"��� ��������� �)$�, �&� ��7�� ��
7����# 32oF. � ,"�+ 9%��� "�#����"��� %������ ��$� ���"��"�"���" 212 8��-
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$���#. Q%��� P����8�+"� "��$�.����� ���#����"�� � ��$� �"��� (�����#��,
� <�8��� � �Q<

).
� 1730 8. (���.� �%�+ �7���+ <

.-��#'� ���$��!�� 9%���, � %�"���+ �$��
8��$�� ����� 1/80 7��"� "�#����"����8� ��"������ #�!$� "�7%�+ ���������
�)$� (0oR)� %������ ��$� (80oR) 1oR=1, 25oC. =� �����'.�� 9%��� -��#'��
&��� �����"� � -�����. � ���"��6 �� ���#� ��� ���%"�7��%� ��9�� � ���"��-
&�����.

� 1742 8. 9��$�%�# �7���# <
.
B��)���# &��� ���$��!��� 9%���, � %�"���+

��"����� #�!$� "�#����"���#� "����� �)$� � %������ ��$� &�� �� $���� ��
100 �����* 7��"�+.

�������7��)�� "�7%� "����� �)$� �&� ��7����) 7����# 100,
� %������ ��$� - 0. � 1750 8. &��� ���$��� �&��"��� �&� ��7����, �����"��
��+7��. ������$ "�#����"�� � 9%�� P����8�+"� � -��#'�� � 9%��� B��)���
���� ��$�"�� �� (��#��� T oC=5

9
(T oF-32oF).5�%�# �&�� �# , �"��" �� �����+ ������ � �����"������� ��%� �"���+ �� -

��7��* "��#�#�"��� &�� ��+$��. � ���%"�7��%�+ "�7%�  ����� "�7%� ������-
��� �)$� �� �7��) �$�&�� $�� ,"�����: ���  �����" �" $������� � �� �7��)
*���9� ������� ��$�"��. � 1954 8. �� 10-+ @������)��+ %��(����.�� �� #���#
� ����#  � �������' �������' "�7%� &��� �����"� "��+��� "�7%� ��$� - "�#-
����"���, ��� %�"���+ ����6 ��"��'" � ���������� ��� "�� (� � : ���-��$�-��$.5��+��� "�7%� ����$����"�� "�%. ��� %�!$�+ "�#����"��� � ���������� ��
�)$�# ��*�$�"�� ��� ��� ����$������# $�������. R��� ���"������ ����9 �")
"�#����"���, "� � "�" #�#��", %�8$� ��$ ��7��" �����")��, ��� "�� (� � &�-
$�" ��*�$�")�� � ����������. >"�#� ���"����' �"��7��" "�#����"��� 0, 01o�
� $������� 4, 58 ## .�".�". (609 �/#2).

2. �� #�!���") � #������ � �����"������� "�#����"�� � ��#�6 )' �� ��7-
��* "��#�#�"��� (�����#��, �"�"��* � ����"���*) #��7����� ���$����8��",
7"� "�#����"��� ��") *���%"����"�%� ����������8� ���"����� � ��  �����" �"
%��%��"��8� #�"������ "��#�#�"��. ���#� �����#�, "�#����"��� ��") *���%-
"����"�%� �� ��6 ��"��, � ���"����� ��6 ��"��. � ���"����# ���7��, ��� (�%-
���������* "�#����"���* �������* "�7�% �� ��7��� "��#�#�"�� � ���#�!�-
"�7��+ �&���"� "�#����"�� ��%� ��� &� �� ��� "�#����"��� , �����#��, "�#-
����"��� �%��! �'6�8� �� $�*�, � ���) � &��� &� �"$�") ���$��7"���� "�#�
��� ���#� ��%� ���' .S"�&� $�%� �") ���������)���") ����"�� "�#����"��� , � �� ����� ���")
�� % ��%� ����# %��%��"��8� "��#�#�"��, ���&*�$�#� &��� ��+"� �����& � #�-
����� "�#����"��� , ��  �����6 �+ �" %��%��"��8� ���&���. 5�%�+ �����& &��
���$��!�� 5�#����# (������$�"��� ���$ A��)���) � 1848 8. 
� ������� ��
�"���!$����, 7"� %�,((�.���" ���� ��8� $�+�"��� �&��"�#�8� .�%�� A����
η ��  �����" �" ��$� ��&�7�8� "��� (�"���� "����#� A����). A�% � ���"��,
%�,((�.���" η � .�%�� A���� �����

η =
Q1 − Q2

Q1

=
T1 − T2

T1

(1)

���
T1

T2

=
Q1

Q2

, (2)
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?

?

Q1

Q2

p

V

1

2

3

4

-�� 1:
B�%� A����, p − V $��8��##�. �7��"%� 1-2 � 3-4 -� �"��#� , 2-3 � 1-4 -

�$��&�"� .

8$� Q1 - %���7��"�� "����"� , � �"�+ �" ��8����"���, � Q2 - �"$����+ *���$��)-
��%�, T1 � T2 - "�#����"��� ��8����"��� � *���$��)��%�. � #����  ��7����
Q1 � Q2, #�!�� ����$���") �"��9���� T1/T2 (�# .���. 1). R���  �$�") �$��
� "�#����"��, �����#��, �����$�") �$�� � � �"��#�7��%�* ���.����� ���
"�#����"��� "��+��+ "�7%� ��$� � �������") �+  ��7���� 273, 16K, "� "�#��-
��"���, ��� ����� � �'&�# $��8�# � �"��#�7��%�# ���.����# � .�%�� A����,
&�$�" �����

T = 273, 16
Q1

Q2

. (3)


���$����#�� "�%�# �&�� �# 9%��� "�#����"�� ��  �����" �" ���+�"� ��-
&�7�8� "���, ��,"�#� ��� �� ����"�� �&���'"��+ "��#�$���#�7��%�+ 9%���+
"�#����"�� ��� 9%���+ A��)����. 
$�� 8��$�� � ,"�+ 9%��� �&� ��7��"�� %�%
1K. 
������+ �������+ "�7%�+ �����"�� "�#����"��� "��+��+ "�7%�, %�"����
����8��"�� �����+ 273, 16 A .

��&�� 7������8�  ��7���� "�#����"��� "��+��+ "�7%� ��$� 273, 16 A &� 
�%� ���� "�7���"� ���"��"�"���" �#���� �������+ "�7%�, %�% "�7%� �"�7�"�.
>"� .�(�� �����#��"��  � "�7���  ��7����. � ���"�������!���") ,"�#�,  ��-
7���� "�#����"�� $��8�* "�7�%, ����$����#�* ,%�����#��"��)��, ���8$� ����-
'"�� ���&��!����#�, "�7���") %�"���*  �����" �" "�7���"� ,%�����#��"�.
��#� .�(�� 273, 16 A (��� 0, 016oC) ��&���� "�%�# �&�� �# , 7"�&�  ��7����
"�#����"�� �� �&���'"��+ "��#�$���#�7��%�+ 9%��� "�#����"�� �� �"��7�-
���) �" �"���+ 9%��� B��)��� � $��#� �������#� "�7%�#�.

3.
�"���� �6 � �$�� ������, %�% �����"���") "�#����"��� "��� � ��%� ���-
�#� "��#�#�"��. � �����$�����+ !� �� �� �&�7�� �� �� ��%��".

���") #�
� #����# "�#����"��� "��� � ��#�6 )' 8��$����%�. ��%� ���� "��#�#�"��
����$���'" "�#����"��� ��#�8� "��#�#�"��. ��7�#� "�#����"��� "��#�#�-
"�� ����� "�#����"��� "��� ? ��9 �����$�����+ ���" ��%� ����", 7"� ����
$�� ���"�#� ��*�$�"�� � "������# %��"�%"�, ".�. �� $����� , �����#��, "��-
%�+ "���������$�6 �+ �"��%�+, "� � "�7����# ���#��� ��� ���*�$�" � ���"�����
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����������, %�"���� *���%"��� ��"�� �$���+ "�#����"���+. 
$��%� "��#�$�-
��#�%� ��9�� �6 � $��)9�. 
�� �"���!$��", 7"� $�� ���"�#� , ��*�$�6���� �
���������� � "��")�+, ��*�$�"�� � ���������� #�!$� ��&�+, ".�. ���� A ↔ C
� B ↔ C, "� A ↔ C ( �%�� "��#�$���#�7��%�+ "��� �"�����"�). � �����8�
� 8��$� ,"� �"���!$���� %�!�"�� "������)��#. 
$��%� ��8%� ��$�"), 7"� ���
�� �����"�� "�%���# .

�����#��, %���% ��"���, ��"��"�+ 9���")' , &�$�" ���"�8���") ��+"���)-
��+ 9���% � &� ��� �.

5�%!� &�$�" ���"� ��&� � $��8�+ %���% ��"��� � , ��
$�� %��%� ��"��� �� &�$�" ���"�8���")�� $��8 % $��8�. � %��8� T .?�#���%�8�
[2] �����$�"�� �6 � �$�� ���#��. U ��6��� < �'&�" #�!7��� �, !��6��� �
"�%!� �'&�" #�!7��� �. �� �'&�" �� !��6��� < !��6��� �?

��� �%� ����� � "�#����"��� #�!�� �(��#�������") � ��$� ���$�'6�8�
�"���!$����, %�"���� �� ���$��!���' P������ �� ����"�� ������# ��7���#
"��#�$���#�%�: ”��6��"���" (��%.�� ���"����� - "�#����"���. -�����"��
"�#����"�� �� ���* "�7%�* ��") ������� "������8� ���������� $��* ���"�# ���
$��* 7��"�+ �$��+ � "�+ !� ���"�#�”. >"�"  �%�� ���$�" "�#����"��� %�%
(� �7��%�' ����7���, *���%"��� �'6�' ����������� ���"����� ���"�#� � ��
 �����6 �' �� �" %��%��"��8� �"������ �&:�%"�, �� �" ��"� $��"�!���� $��-
��8� ���"�����. � ,"�# �#��� "��#��� (��%.�� ���"�����.�����$����� �"���!$����, ���"����'6�� ��$��! ���� ������8� ��7��� - #�%-
��#�# "�8�, 7"� #�!�" �%� �") "��#�$���#�%� � "�#����"���. P� �7��%�+
�#��� "�#����"��� ���, ���7� 8�����, ��� ) "�#����"��� � #�%���%���7�-
�%�#� *���%"����"�%�#� �&:�%"� ��%�����"�� � �"�"��"�7��%�+ (� �%�, 8$�
����#�"����'"�� %��%��"��� #�$��� �&:�%"��.

2 V F121W X3M 2MLH4Y 4D Z 1 34[J41 4 0Z LMJ41
H1DE1FGHIFZ

� %�%�* ���$���* #�!�" � #���")�� "�#����"���? R��� ������) ���")�� "��-
#�$���#�7��%�+ 9%���+ "�#����"��, "� � ���"��9���+ (1) � (2) ���$��", 7"�
"����"�7��%� ���*��+ 8����.� $�� "�#����"��� �� ��6 ��"���". �#��"� � "�# ,
� ���"��9���� (2) ��$��, 7"� %���7��"�� "����, ��������#�� � *���$��)��%
Q2, �#��)9��"�� � �#��)9����# "�#����"��� . ���#��)9�� �� #�!���  ��-
7���� Q2 ����� ���' , � ���"��"�"��'6 �� "�#����"��� T2 ����� �&���'"��#�
���' . � "��#�$���#�%� ��%� ����"��, 7"� ��� ��&��� ����!�"��)��8�  ��-
7���� "�#����"��� � "��+��+ "�7%� "��#�$���#�7��%�� "�#����"��� ���8$�
&�$�" ����!�"��)��. 5�%�# �&�� �# , �&���'"��+ ���) ��") ����� 9�� "�#-
����"���. @�����") � "�#����"���* ”*���$���” �&���'"��8� ���� �� �#��"
��%�%�8� �#����. � (� �%� ���8$� �����) ��"�� ����"�� �"��.�"��)��* "�#-
����"�� (�# .�.4). 
�� ���$�"�� 7��"� (��#��)�� � *���%"��� �'" ����������-
��� ���"����� ���"�#� .

5�#����"��� !� � ���#�# �#���� �����, "� ��") � ��
"��#�$���#�7��%�#  ��7����, �����"�� *���%"����"�%�+ ����������8� ���"��-
���.


"#�"�# �6 � �$�� ��!��� �&�"��"��)�"��. � "��#�$���#�%� $�%� ����"��,
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7"� �&���'"��+ ���) "�#����"�� ����.�����)�� ��$��"�!�#. -�7) �$�" ��
� "�*��7��%�* "��$���"�*. � "�&��.� 1 ��$��, 7"� ���%� ����"��' ���&��-
 ����) % �&���'"��#� ���' . ��$��"�!�#��") �&���'"��8� ���� "�#����"��
�����"�� ����.�����)��# ���$�"���# "��")�8� ��7��� "��#�$���#�%�.��� �����#  ��%�#�"�� � "��#�$���#�%�+ �"���!$���� � ��$��"�!�#��"�
�&���'"��8� ����, "� ��") �& ���#�"�"�7��%�# ���&��!���� % �&���'"��#�
���' , ��������#��"�� � "��$�# . >"� 7��"� ���*���8�7��%�� "��$���"), %�"�-
��' #�!�� ����$���"), ���� ����+"� % ��8���(#�7��%�+ 9%��� "�#����"��,
"� ��") �#��"� ����"� ����' "�#����"��� ′ = lnT . � ,"�# ���7�� �&���'"-
��#� ���' "�#����"�� &�$�" ���"��"�"����")  ��7���� −∞, ���#�"�"�7��%��
���&��!���� % %�"���#� �!� %�!�"�� ��"��"�����# .

5��#�$���#�%� ��  �-
���6 ��" �����) ������ ��8���(#�7��%�+ 9%��� , %�% � �'&�+ $��8�+ 9%��� ,
��9) &� ����� "�#����"��� &��� &� #���"���� �� ���"�'6�+ (��%.��+ �"�-
��+ "�#����"��� . 
$��%� � ���%"�7��%�+ "�7%�  ����� �����) ������ ��8�-
��(#�7��%�+ 9%��� ��.������&�� ��. P� �7��%�' ���7��� ���� #�!���"� $�-
�"�!���� �&���'"��8� ���� #�!�� ������") �� ���$�'6�# ���#���. 
$��#
� �����&�� �*��!$���� ��6 ��"�� �����"�� #�"�$ �$��&�"�7��%�8� �� #�8��-
7������. � ,"�# #�"�$� %���"��� ���7��� � �"��#�7��%� ��#�8��7����"��. A
%���"���� ���%��$����"�� #�8��"��� ���� "�%�# �&�� �# , 7"�&� %���"��� ��
��8�������. T�8��"��� #�#��"� �"�#�� (���� ��� ����!�"��)��) ���"���-
��'"�� �� ���' , �"���%�+ �� '8. ?�"�# ���� �� %� ��%�'7��"��. A���"���
�� #�8��7����"�� (&� ��$��$� "����, "� ��") �$��&�"�7��%�).

��� �� #�8��-
7������  � �7�" �&#��� ,���8��+ #�!$� #�8��"��#� #�#��"�#� � %���&����#�
�"�#�� �����"�.�� #�8��"��* #�#��"�� ����&��"��" *��"�7��%�+ *���%"��, �
��# %���"��� �*��!$��"��. >"�" ���.��� #�!�� ���"���"). �*�#�"�7��%� ��
� �&��!�� �� ���.2.

� ���� "��")�8� ��7��� "��#�$���#�%� ��� �"��#����� "�#����"��� % �&-
���'"��#� ���' ,�"����� �"��#�"�� % ���"�����#�  ��7���' , ��  �����6 �#�
�" $�������, ���"���"� � $��8�* "��#�$���#�7��%�* ����#�"���. ��,"�#�
S(T = 0, H = 0) = S(T = 0, H). � ���.2 ��$��, 7"� � �� ��)"�"� %���7��8�
7���� .�%��� �� #�8��7������ ���� #�!�� $��"�7) �&���'"��8� ����. � $��-
8�+ �"����� , ���� &� "��")� ��7��� "��#�$���#�%� �� ����������), "� ��")
S(T = 0, H = 0) > S(T = 0, H), "� #�!�� &��� &� $��"�7) �&���'"��8� ����.


���$������ �&���'"��8� ���� "�#����"�� � "��#�$���#�%� �� ��� ��� ��
���+�"��#� %��%��"��8� ��6 ��"��. A�%��� !� ����$���� ����)��* ��6 ��"�
�&�� � �&���'"��8� ����? S��"� ��"��7�'6���� � ���������+ ��"���"���
�"���!$����, 7"� ��� T = 0K ���%��6 ��"�� ���%�� #���%������� $��!����,
�����9���� ��������)��. ��� ���&��!���� % �&���'"��#� ���' ��� ��6 ��"��
����*�$�" � "���$�' (� �. ��%�'7���� ���"�����" "��)%� 8���+.

��$ $����-
���# ����6����* ����� �� ��"��"�� !�$%�# �  �"���$����" ��9) ��� $����-
���*, &��)9�* 25 �"#. P� �7��%�� ���7��� ,"�8� ���"��" � "�# , 7"� $�!� ���
T = 0K �"�#� 8���� $��!�"�� (�����9 �'" "�% �� ����#�� ”������� %���-
&����”). >���8�� ,"�* %���&���+ ����$%� ��"��.���)��+ ,���8�� � ��#�$�+-
�"��� �"�#� 8���� � &��! �+9�#� ����$�#�, 7"� �����"�"���"  �"���$�����' .
� "���$�+ (� � ��� 0K 7��"�.� "�%!� �����9�'" ”������� %���&����”, �� �*
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=�"� oppqrstuvwrqx �"���� >"�� 5
, K

1860 yz{| Q �"-
���$��

}r{u~� �v� | �q��t|t�� t�qv�sr�z� : st-
pwz���w~ wr��r{vw�{~ �z�r wt�|z �v�r{�v-
�z� Hg

234,0

1877 yv�qrwr P���.�� }r{u~� �{turq t�z�r�zr |zpqt{tsv: zppqr-
stuv� �{t�rpp s{tpprqz{tuv�z� z� ptp�sv p
svuqr�zr� ; �tq��r� wtqx|t pqv�~� w��v�

90,2

1884 �{t�qrup|z� z�qx�rup|z�
���)9 � }r{utr z��r{r�zr put�pwu ur� rpwuv �{z �z�-

|z� wr��r{vw�{v�: zp�tqx�tuv�~ �vq~r |t-
qz�rpwuv �zs|z� N2 � O2

77,3

1898 �x�v{ <�8��� }r{u~� �{turq t�z�r�zr utst{tsv: zp�tqx-
�tuv� ���r|w ��t�q� - �t�pt�v z �{twzut-
wt��~� wr�qtt��r��z|

20,4

1908 yv��r{qz�� -���rp
@�����-
$��

}r{u~� �{turq t�z�r�zr �rqz�: zp�tqx�tuv�
wtw �r �rwts , �wt z � �x�v{v; up|t{r �t-
pqr �wt�t tw|v�|t� �v{tu �rqz� �tq��r�v w-{v
1o

K

4,2

1927 �z�t� @��#�-
��� �<�8���

�t�sv� �rqzru~� t�z�zwrqx: zp�tqx�tuv�t
vszv�vwz�rp|tr {vp�z{r�zr �v�v z� ptp�sv p
svuqr�zr� p �{rsuv{zwrqx�~� t�qv�sr�zr�
�zs|z� H2

4,2

1933 ��zt| z �v|-

���vqq
�Q< }r{utr vszv�vwz�rp|tr {v��v��z�zuv�zr:

zsr� u�r{u~r u~p|v�v�v ��zt|t� z � r�vr�
u 1926 �.

0,25

1934 yv�z�v ���- �t�sv� �rqzru~� t�z�zwrqx p zp�tqx�tuv-
�zr� srwv�sr{v ({vp�z{zwrqx�t� �v�z�~).}t�uzqvpx ut��t��tpwx �{tz�utszwx t�z�r-
�zr �rqz� �r� �{rsuv{zwrqx�t�t t�qv�sr�z�
�zs|z� H2

4,2

1946 ytqqz�� �Q< �t�sv�v �{t�~�qr��v� �pwv�tu|v sq� t�z-

�r�z� �rqz�: zp�tqx�tuv�~ {vp�z{zwrqx�~r
�v�z�~ z �{twzutwt��~r t��r��z|z

2,0

1956 �z�t� z y�{wz <�8��� }r{u~r �|p�r{z�r�w~ �t �sr{�t�� t�qv�sr-
�z� : zp�tqx�tuv�t vszv�vwz�rp|tr {v��v��z-

�zuv�zr �sr{�t�t �tqtszqx�z|v z� �v{v�v�-
�zw�t� ptqz

10−5

1960 y�{wz <�8��� �rwts �sr{�t�t t�qv�sr�z� 10−6

1988 �tww, �rpw�{�|,�zqqz�p, �tqs
�Q< �rwts qv�r{�t�t t�qv�sr�z� 4 · 10−5

1988-
1995

��, yt�� -�v�-

�zsx� ,
�zqqz�p

�Q< �rwts qv�r{�t�t t�qv�sr�z� 0, 18 ·
10−6

1992 yvpruz� z �� �Q< �rwts qv�r{�t�t t�qv�sr�z� 10−7

1995 ��sr{pt�, ��-

�r{, ��wwx��,
�z�r�, yt{�rqq

�Q< �rwts qv�r{�t�t t�qv�sr�z� 2 · 10−8
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-�� 2:
���&��!���� % �&���'"��#� ���' ��"�# �����$���"��)��8� �����$����

.�%��� �$��&�"�7��%�8� �� #�8��7������. a - ���� S(0,0) �"��7��"�� �" S(0,H),
"� �&���'"��+ ���) $��"�!�# ; b - ���� S(0,0)=S(0,H), �&���'"��+ ���) ��$�-
�"�!�# .
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,���8�� �!� ��$��"�"�7�� $�� �� ��9���� ��6 ��"��'6�8� ����$%�. �������
,���8�� �#��" %���"���� �����*�!$����. R� ���) � �"��") � "��� (������"��,
�����#��, � ��&�"�) &� � #�����+ �"��%"��� ��6 ��"��. ?��7���� ������+
,���8�� #�!�" &�") $��"�"�7�� &��)9�# .

5�%, ������� ,���8�� 8���� � "��
�� � &��)9�, 7�# "����"� ���������.

R6� &���� ��%�' %��"��� $��!���� ��� �&���'"��# ���� $��" ����$����
,��%"�����8� 8� � � #�"����*. R��� �7�"�") ,��%"���� � #�"���� ���&�$��#
,��%"�����# 8� �# , "� ��� T = 0 #�%��#��)��� �%����") ,��%"����� ���"��"-
�"���" ,���8�� ����$%� ���%��)%�* ,��%"���-���)", 7"� ���"��"�"���" "�#��-
��"��� 104 ÷ 105K. ��"� ���"�#� ,��%"����� �&��$��"  ��7�"��)��+ %���"�7�-
�%�+ ,���8��+, ��� ����� �� �����"�� ”8���7�+”, ���%��)%� �� #�!�" ����$�")
%�%�' -��&� 7��") ����+ ,���8�� &���� *���$��#� "���.

S"�&� ”8���7�+” ,��%-
"��� ��� T = 0K #�8 �"$�") ���' ,���8�' , �� $��!�� ����+"� � &���� �� %��
,���8�"�7��%�� ���"�����, � ��� T = 0K ��� ��!���! �6�� ���"�����  ���"� .


& �� $��"�!���+ �� ��"� % �� %�# "�#����"���# ��##������ � "�&�.1 [2].
���7��� $��"�!���� �� ��"� % �&���'"��#� ���' �"#�7��� $��#� ��&����-
�%�#� ���#��#� �� (� �%�.

� 1913 8. ��$�����$�%�#� (� �%� A�##�����8 - 
����� &��� �����!$���
��&�����%�� ���#�� � (��#������%�+ ” � �����$������ ���+�"� "�� ��� �� -
%�* "�#����"���*, %�"���� , � 7��"���"�, ������� % ����7���' !�$%�8� 8�-
���”. -�9 �'6�# #�#��"�# � �����!$���� A�##�����8 - 
����� ��&�����%�+
���#�� ������) �"%��"�� �# � 1911 8. ������� ����*�����$�#��"�, %�"����  �-
%�'7��"�� � �����# ��7� ������� �����"������� ,��%"��7��%�#� "�%�, ��7����
� ��%�"���+ %��"�7��%�+ "�#����"��� , *���%"����+ $�� %�!$�8� "�%� (%��"�-
7��%�� "�#����"��� 7��"�* #�"����� ��! �" � ��"������ �" ���%��)%�* ��"�*
$���+ A $� 9A). ��!���") ,"�8� �"%��"�� (� �%� ��� ���� �7��) &��"��, 7"�
� ������� % ��&�����%�+ ���#�� � 1913 8.

� 1997 8. ��&�����%�� ���#�� �� (� �%� &��� �����!$��� �"����� S�
(�Q<

), A��$� A�,�-
5����$)' (P���.��) � ���)�#� = .P������� (�Q<

) �
(��#������%�+ ” � �� ��"�� #�"�$�� �*��!$���� �  �*��"� �"�#�� �$����# � -
��7����#”. � ��� � � �����!$����# ,"�+ ���#�� �"#�"�#, 7"� �$�� �� ����8�
�*��!$����, ����� ������� � ��&�"�* ��&�����%�* ������"��, &��� ���$��!���
�����+�%�# (� �%�# � .�.��"�*���# � 1977 8. � ��&�"�* �8� 8����� �������
,"�# #�"�$�# &��� $��"�8��"� "�#����"��� 1, 5K (1981 8.) � 3, 5 · 10−3K (1984
8.). =��)��+9�� ������9���"������� ,"�8� #�"�$� �� ������ ��&�����%�# ���-
���"�# ����7�") "�#����"��� 0, 18·10−6K. � ���"��6 �� ���#� ���$��)�� �� %��
"�#����"���, $��"�8��"�� #�"�$�# �� ����8� �*��!$����, ���"�����" 2 ·10−8K.

=���� �� ����%�* "�#����"��, � "�7%�  ����� "��#�$���#�%�, �� �8����-
7��.

5�#����"��� ��"��"�����* �&:�%"�� "�%��� : ,((�%"����� "�#����"���
�����*���"� ����.� 5, 78·103K, "�#����"��� � .��"�� ����.� 1, 55·107K, "�#��-
��"��� �� ���"�����* �&���"�* ���&���� 8���7�*  �� $ ����$%� 3 · 109K. ��"�-
����� �"#�"�"), 7"� "�#����"��� � .��"�� ����.� #�!�� ������)�� �.���"),
��*�$� � $����)�� 8��&�* ���$�"������+. ;�$�# �7�"�"), 7"� ����.� �#��"
9 ����&�� ��' (��#� � ���"�����' ���"���"), ���"��"�"��'6�' �$���)��#�
8� � �"�#�� ��$���$�. � ���"��"�"��� � ���������# A����+���� - T��$������
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T = pmH/(ρkB). 
&6 �� #���� ����.� m = 2, 00 · 1030, ��$��� Rs = 6, 96 · 108,
#���� �"�#� ��$���$� mH = 1, 67 ·10−27%8, ���"���") ρ = 3m/(4πR3

s) = 1, 41 ·103

%8/#3, ���"������ ;��).#��� kB = 1, 38 · 10−23=!/K. =�� $������� � .��"��
����.� #�!�� �����")  ��7���� p = 1, 35 · 1014�/#2(p = ρgR, g - ���$��� ��%�-
����� ���&�$��8� ��$����, g = g0/2, g0- ��%������ ���&�$��8� ��$���� �� ��-
���*���"� ����.� (g0 = 274 #/�2).

� "�%�# ���7��
T =

(1, 67 · 10−27)(1, 35 · 1014)

(1, 38 · 10−23)(1, 41 · 103)
K = 1, 16 · 107K

.
A�% �!� �%� ������), ���*�'' 8����.� $�� "�#����"�� � ��#%�* "��#�-

$���#�%� ����$���") ���) �. �� �� #�!�� ����$���"), ���� ������) ���")��
�"��$��"��# ����#�#. ���&*�$�#� � #�����* ���"�����* (� - �%����") ���"�
� ��%��#�, h̄- ���"������ ����%�, kB- ���"������ ;��).#��� � γ- 8����"�.�-
����� ���"������, �*�$�6 �� �  �%�� "�8�"���� �)'"���) ���"���") %�#&���-
.�' ,�#�'6�' �� #�����") "�#����"��� . 
�� �#��" ��$

Tp =
1

kB

(

h̄c5

γ

)1/2

= 4, 029 · 1031K

� �� ����"�� ����%���%�+ "�#����"���+. >"� "�#����"��� "��$�� �����"�-
��") � %�%�#-��&� ����)��# �&:�%"�# . R��� ����#�"����") ��7��)��' �"�$�'
,���'.�� ��������+ �� #�$��� @�#���, "� � #�#��" ���#��� t ∼ 10−34c "�#-
����"��� ��������+, ��$��� %�"���+ � ,"�" #�#��" ���#��� ∼ 10 �# (�� #��
����)����, %�% ��9�" A�����%�� [1]), ����$%� 1027K.

?�#��� $��"�!���� � �&���"� ����%�* "�#����"�� �� #���� ���7�"��'6��.
��8��� #�"����7��%�* �����$��%�� ,��%"��7��%�# "�%�# �� �����" $��"�7)
"�#����"�� � ���%��)%� "���7 8��$����, ��8��� � ���#��� ∼ 5000K, ��8��� �
���)��* �$����* �����* ���"�����" $���"%� � ��"�� "���7 A , � ,��%"��7�-
�%�# �� ��$� � 8� �* $���� �� � #������ "�#����"��  �%�'7�� � ��"������ �"
$���"%�� "���7 $� #�������� A , ��8��� �� ����# ��7%�# - $� ���%��)%�* #��-
������ A . ��%���., "�#����"��� ��8���� �  ��� "��#��$����+ ���%.�� #�!�"
���"����") 107 − 108K [3].

3 � 4JFMLJME4 1LJGO 43 H1FEF1HG¡4O H1DE1FG
-HIFZ

� "��#�$���#�%� "�#����"��� ����$����"�� %�% #�%���%���7��%�� *���%"���-
�"�%� ����������8� ���"�����, �&��$�'6 �� ����$������#� ���+�"��#� (����-
��� ��7��� "��#�$���#�%�). ��� ) "�#����"��� � #�%��*���%"����"�%�#�
���$� � ��#%�* "��#�$���#�%� ��"�����") ���) �. >"� #�!�" �$���") "��)%�
�"�"��"�7��%�� (� �%�, ���%��)%� ��� ����#�"�����" %��%��"��' #�%���%���-
7��%�' �"��%"��� �����$��#�8� �&:�%"�.
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-���#�"��# "�� �&:�%"� �� ��+ �����$� : �&�7��+ 8� , � ��7���� � ,��%-
"�����+ 8� � #�"����*.

=�� �&�7��8� 8� �, ���� �8� �7�"�") �$���)��# , ������$���� ���������
���"����� A����+���� - T��$������

pV =
m

µ
RT, (4)

8$� �- $�������, V - �&:�# , µ- ��� �$��8� 8��##-#���, 5
- �&���'"��� "�#����-

"��� ("�#����"��� � �&���'"��+ "��#�$���#�7��%�+ 9%���), R = NAkB. R���
"����) ��$�7�"�") $�������, ��*�$� � #���%������- %���"�7��%�* ���&��!�-
��+, "� ����7��#

p =
2

3
U, (5)

8$� U = nmv2/2 - ,���8�� �$���.� �&:�#�, n = mNA/µV - 7���� 7��"�. �
�$���.� �&:�#�. ��������� (5) � (4), ����7��# � ���"��' (��#��� ;��).#���

mv2

2
=

3

2
kBT (6)

5�%�# �&�� �# , � �&�7��# 8� � "�#����"��� ���"����" %�% #��� ���$��+ %�-
��"�7��%�+ ,���8�� #���%��.

�����# ���� %��"��� ����7��"�� $�� � ��7���� � ,��%"�����8� 8� �. P��-
#��� $�� ���"���"� ,���8�� (5) � �&6 �# ���7�� #�!�� ���$�"���") � ��$�

U = nε

8$� ε - ���$��� ,���8�� �$��+ 7��"�.� (�"�#� � #���%��� , (�"��� , ,��%"����).
���$��� ,���8�� ��7�����"�� ���$�'6�# �&�� �# . ��!�� ���!�") ,���8��
���* 7��"�. � ����7����' ��##� �� $���") �� ������ 7���� 7��"�.. >"�" ���-
��& ���%"�7��%� �� ����� ��#, ��,"�#� ���"���'" ���$�'6�# �&�� �# . ��-
7����'" ���$��� 7���� 7��"�. n(ε), �#�'6�* ,���8�' � ��"������ ε, ε + ∆ε.
(n(ε)- ���"���") 7���� 7��"�. � ,���8��+ � ��"������ ε, ε + ∆ε ��� (��%.��
������$������ 7��"�. �� ,���8��#). � "�%�# ���7��

nε = Σn(ε)ε∆ε

R��� ∆ε - $��"�"�7�� #���, "� ��##�������� #�!��  �#���") ��"�8���������# .
=�� "��* ����#�"�����#�* ���7���  ��7���� n(ε) �� ��7�� . =�� �&�7��8�

8� � ε = mv2/2 �
n(ε) = n

2√
π(kBT )3/2

ε1/2 exp

(

− ε

kBT

)

- #�%��������%�� ������$������, ε = mv2/2 = 3

2
kBT .

=�� � ��7����, %�"���� #�!�� ����#�"����") %�% 8� (�"���� � ,���8��+
ε = h̄ω, 8$� ω - 7��"�"� (�"���

n(ε) =
ε2

π2h̄3c3

1

exp
(

ε
kBT

)

− 1
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ε = h̄ω = 2, 70kBT (7)

=�� ,��%"�����8� 8� � � #�"����* � ���&��!���� ���&�$��* ,��%"�����
n(ε) = ne

4π(2me)
3/2

√
ε

(2πh̄)3

1

exp
(

ε−µ
kBT

)

+ 1

ε =
mev2

2
=

3

5
µ0

[

1 +
5

12
π2

(

kBT

µ0

)2
]

(8)

8$� µ ≈ µ0 = h̄2(3π2ne)
2/3/(2me) ∼ 105K, ne, me- ���"���") ,��%"����� � #����

�$��8� ,��%"����, ���"��"�"�����.
-���#�"������ ���#��� �"����"�� % 7��"�.�# �� ��+ �����$� .

<"�#� 8� �
�������'"�� �"�"��"�%�+ ;��).#���, (�"��� - �"�"��"�%�+ ;� � ->+�9"�+��,
,��%"���� - �"�"��"�%�+ P��#� - =���%�. -� ��7�� � ����$���� ,"�* 7��"�.
����$���'"�� �� ��7��#� �* %���"���* ���+�"�. � ��������� (��#�� (6-8)
��$��, 7"� �� ���* ���7��* "�#����"��� �$�� ��7�� ����$����" ���$�'' ,���-
8�' 7��"�.. 
$��%� "��)%� � �&�7��# 8� � (8� � %�����7��%�* 7��"�.) "�#��-
��"��� ���"����" %�% #��� ���$��+ %���"�7��%�+ ,���8�� 7��"�.. R��� &� �
��#�6 )' (��#��� (6) �"��� &� � #���") "�#����"��� ,��%"�����8� 8� � Te,".�. �7�"�"), 7"� ε ����� 3

2
kBTe, "� $�� Te ����7��� &� ����7��� ����$%�

105K. �"��) ����%�� .�(��, %�% #� �!� 8�������, �� �#��" �"��9���� % "�#-
����"���, ���%��)%� ,"� ,���8�' , ,"� ”"����” ���) � �"�&��") � ,��%"�����.
�����) ���") #�!�� "��)%� $�&���% ,���8�� (�"���+ 7��� � (��#��� (8), %�-
"���+  �����" �!� �" ”���"��6 �+” �&���'"��+ "�#����"��� .

<����8�7���
����!���� � (�"����# 8� �#. ��� (�"��� $��!�"�� �� �%����")' ���"� � ,"�
����7��� ��  �����" �" "�#����"��� , �$��%� ���$��� ,���8�� (�"���� (���
�* ���$��� 7��"�"�) ����+��  �����" �" "�#����"��� . >"�" ,((�%" *���9�
� ���"��. � (� �%� �� ����! ��"��  �%���# �#�6 ���� ����. � ,"�#  �%���
�"���!$��"��, 7"� #�%��#�# (��%.�� εn(ε), $��"�8��#�+ ��� ε = εmax, ��� ��
� "�#����"���+ ����������8� � ��7���� ���"��9����# εmax/(kBT ) = 2, 822.

&�7��  �%�� �#�6 ���� ����  ��������"�� � ��$�

λmaxT = 898�# · K

��$ �����$����+ (��#��� �������" �#��� ����� ”�#�6 ����”: ��� � #������
"�#����"��� �����*�$�" �#�6 ���� #�%��#�#� ����������8� � ��7����. 5�%,
�����#��, ����.�, "�#����"��� �����*���"� %�"���8� T ≈ 6000K ���"�" �
��$�#�# $���� ���. @���7�� &���� %����%�, �#�'6 �� "�#����"��� 7 · 104K,
� ��7�'" � ��)"��(����"���+ �&���"� ���%"��. ����$��� ��&����� "���, %�%
?�#�� - � ��(��%�����+ �&���"� ���%"��.


$�� � ���&���� ��%�* ���#����, $�#���"����'6�*  �����#��") #�%��-
#�#� ����������8� � ��7���� �" "�#����"��� , ���$�"�����" �&����!����� �
1964 8. ����%"���� %��#�7��%�� � ��7���� (��&�����%�� ���#�� 1978 8.). �
���"��"�"��� � "�����+ ”8���7�+ ��������+”, ���$��!����+ ����%�# �� �����-
*�!$���' (� �%�# @�#���# , ����"� ���#���� ∼ 300000 ��" ����� &��)9�8�
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� ���� � ��7����, �#�'6�� "�#����"��� ∼ 4000K, �#�8�� �"����")�� �" ��-
��$��9�8� �8� �8��"%� ��6 ��"��. >"� #�#��" ��!$���� ����%"���8� � ��7�-
���. =� ,"�8� #�#��"� ���#��� � ��7���� �� #�8�� �����")�� ����!�, ��-
�%��)%� ,"�" ��� #����+ �8��"�% &�� �� ��� ��7�� $�� ,��%"��#�8��"��*
����. 
"�����9���� � ��7���� ���9����"��, � ��#�$�+�"��� � 8����"�.���-
��#� ����#� �&�� ����9�*�� �8��"%�� ��6 ��"��, � �*��!$��"��. � ��9� ���#�,
".�. ����"� 10-20 #������$�� ��" ����� &��)9�8� � ����, "�#����"��� ,"�8�
�����7��8� ����%"���8� � ��7����, ���!��9�8� ��� ,"� 8�$� , ���"�����" ���-
#���� 3A . >%�����#��" �&����!�� � �"������ (������ � ��7����, ��*�$�6 ��
�� �"  �� $, "�#�����"�+ � ".�., � � ”���"�8�” ����"����"��. >"� � ��7�-
��� � *���9�+ �"����)' "�7���"� �����"�� ����������# � �#��" "�#����"���
T ≈ 2, 7K, %�"���� ����$����"�� � ��#�6 )'  �%��� ����. 5�%�# �&�� �# , ��#�
�����$� ���$��"����� ��# ���#�� �*��!$�'6�8��� (�"����8� 8� �, "�#����-
"��� %�"���8� ��$��" �&��"�� ������.�����)�� ��$���� ��������+ (��� ���-
�"����' #�!$� 8���%"�%�#�). P�"����+ 8� ����%"���8� � ��7����, �������-
'6�8� ��������' , ���9����"�� %�% � �8��#��# ����$� � ���9��# .

�  �%�'7���� �6 � �� ��$7��%��#, 7"� �"��8�� ����$������ "�#����"���
%�% (��%.�� ���"����� $��"�� ������# ��7���# "��#�$���#�%�. � �"�"��"�-
7��%�' (� �%� (� ������$������ (6-8)) "�#����"��� �*�$�" %�% &� ”�� �����$-
�"��” � "��#�$���#�%�, ���%��)%� $��!�� �������")�� ���&*�$�#�� �������:
��� "��#�$���#�7��%�� (#�%���%���7��%��) ����7��� , ����7�"����� � ��#�6 )
�"�"��"�7��%�* ������$�����+, $��!�� �����$�") � ���"��"�"��'6 �#� "��#�-
$���#�7��%�#� ����!����#�. � �"�"��"�7��%�+ (� �%� "�#����"��� ���"�-
���" %�% #�%���%���7��%�+ ����#�"�, ����$���'6 �+ $�� ����������+ �"�"�-
�"�7��%�+ ���"�#� ��#� �"��%"��� #�%���%���7��%�8� ���"����� (�# . (��#���
(6-8)). � ����"�+9�# ���7��, %�% � 8� � �$���"�#��* 7��"�. � #�%��������%�#
������$������# �� �%����"�# , "�#����"��� ���"����" %�% #��� ���$��+ %���-
"�7��%�+ ,���8�� 7��"�..

4 ¢ MN2G DMY 3M NM0MF4 HX M H1D E1FGHIF1 31FG0
-3M01L3M£ LF12Z

? ¤ HF4¡GH1W X3Z 1 H1DE1FG
-HIFZ

5�#����"���, %�% "��#�$���#�7��%�� ����"��, ����$�����, �"��8� 8�����, "��)%�
$�� ����������* ���"����+. 
$��%� � ��$� ���7��� #�!�� � $��"�"�7��+ �"���-
�)' "�7���"� 8�����") � "�#����"��� ������������+ ���"�#� .

���$����!�# ,
7"� � ��� ��") $�� ���"�#� A � B � "�#����"���#� TA � TB. ���$���# ,"� $��
���"�#� "�%, 7"�&� #�!$� ��#� &�� �� #�!�� "������+ %��"�%" � � ������#
���"����' ���"�#� A + B �" �%��! �'6�+ ���$� . R��� "�����&#�� #�!$� ��-
�"�#�#� A � B �����*�$�" $��"�"�7�� #�$�����, "� � %�!$�+ #�#��" ���#���
#�!�� 8�����") � "�#����"���* TA � TB, *�"� ���"����� ���"�#� A+B �� ����-
�"�� ����������+. � "�7����# ���#��� ���"�#� A + B ���$�" � ���������� �
��"�����"�� �$���� "�#����"��� � A � B. -���#�"�����+ ���#�� �� �����"��
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�%�$�#�7��%�#. A "�%�# ���"�#�# �"����"��, �����#��, ��� #� � �� ��#�
"�#����"���#� ,��%"����� � "�!���* 7��"�., ���������$��%� � $��"�"�7��
���)��# ,��%"��7��%�# ����, � %�"���# "�#����"��� ,��%"����� ��6 ��"�����
&��)9� "�#����"��� ��9�"%� � ".$. 
&6 �# $�� ���* ,"�* ���#���� �����"��
����7�� �� ��*, �� ����"����"����� ���#�6 ����* "��#�$���#�7��%�* ���"�# .

� �����$�����+ ���%"�%� #� 7��"� �����) ��# ����"�� "�#����"��� ���-
#���"��)�� % �������#���� ��8��"�# �&:�%"�# . �����#��, #� 8�����# � ���-
���$������ "�#����"��� �� ����"� $�� "�%�8� ������������8� �&�� ������, %�%
�"#��(���. � ��#�+ ��!��+ 7��"� �"#��(��� , "�����( ���, "�#����"��� �&�-
���" � ���$��# �� 6A ��� ��$:�#� �� 1 %#.

5�# �� #����, � ,"�# ���7�� "�%!�
#�!�� 8�����") � "�#����"���, ���%��)%� "�����&#�� #�!$� $��#� &�� %� ���-
����!����#� �&���"�#� A � B �� ��7�"����. � $��8�+ �"����� , ��6 ��"���"
#��8� ���#����, %�8$� ����"�� "�#����"��� �� �#��" �#����. >"� �"����"�� %
���"�#�# , ���"����� %�"���* $���%� �" ����������8�. �����#��, 8� �� (���"�
���)��+ �$����+ ����� ��� 8� , ��$���8��"�+ ��"�������#� �� ����#� �&��7�-
��' . 
��&�+ ���7�+ ���)�� ������������* ���"����+ � %���"���* ���"�#�* �
%���7��# 7����# ,���8�"�7��%�* ������+ #�!�� �������") � ��#�6 )' �"��.�-
"��)��* "�#����"��. -���#�"��# %���"����7��%�' ��9�"%�, � � ��* %�"���+
�������!��� �$���%���� �"�#� ��� ���� .

���$����!�# , 7"� %�!$�+ �"�#
�&��$��" �8����# #�#��"�# - �$����# �����# � ��� ����# � ��# #�8��"��#
#�#��"�# . ���"�#� �$����* ������ �7��) ���&� ��� ��� � %���&����#� �"�#��
� %���"����7��%�+ ��9�"%� � ��,"�#� $��"�"�7�� *���9� � ���������: ���-
������� #�!$� ��#�#� �$����#� �����#�  � �7�" � ��#�$�+�"��� #�8��"��*
����+ ( ���������� � �������+ ��$���"�#�) ���"����"  � $��� ��%��$� . -��-
������� !� #�!$� �$����#� �����#� � %���&�'6�#��� �"�#�#� (����������
#�!$� �������+ ���"�#�+ � ��9�"%�+) ���"����"  � ���#�, � #����#�� #���-
"�#�. R��� �$����+ ���� ����� h̄/2, "� �� ���9��# #�8��"��# ���� H "�%��
���"�#� &�$�" �&��$�") ��9) $��#� ,���8�"�7��%�#� ������#�, ���"��"�"��'-
6�#� �����"�.�� �$����8� #�#��"� �� ����������' #�8��"��8� ���� (��!��+
,���8�"�7��%�+ ������) ε1,���� #�8��"��+ #�#��" ����!�"��)��+) � ���"��
���� (���*��+ ������) ε2). � ���������� ��� "�#����"��� 5 �"��9���� 7����
7��"�. �� ���*��# ������ n2 % 7���� 7��"�. �� ��!��# ������ n1 &�$�" �����

n2

n1

= exp

(

−ε2 − ε1

kBT

)

(9)

��� �'&�+ %���7��+ "�#����"��� n2 < n1 � "��)%� ��� T = ∞ n2 = n1 ≡ n∞.���$����!�# , 7"� #� ��9�� �����& ���� �������� ���*��8� ������ � ��������
���"�#� � ���"�����, 8$� ñ2 > n∞, � ñ1 < n∞ (n1 + n2 = ñ1 + ñ2 = 2n∞).
”
5�#����"���” "�%�+ ���"�#� #�!�� ����$���"), ������) ����9��) (��#���+

ñ2

ñ1

= exp

(

−ε2 − ε1

kBT̃

)

(10)

��8%� ��$�"), 7"� T̃ < 0.��� ñ2 = n1 � ñ1 = n2 ”"�#����"���” ���"�#� T̃ = −T (�# .���.3).
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�) &) �)
d d d d d d d d d

d d d d d d d d d

-�� 3: �*�#�"�7��%�� � �&��!����  ���������"�+ ,���8�"�7��%�* ������+ ���
�� ��* "�#����"���*: �) T , &)∞, �)–T .

>"� �����!$���� ���$�" �"��.�"��)��' "�#����"��� (��#��)��# ��"�# .

$��%� ,"� ����"�� �$�&��, �����#��, ��� ����� � ,%�����#��"�� �� �$����#�
#�8��"��#� �� ������. =�+�"��"��)��, ���� &��"�� � #���") ����������� #�8-
��"��8� ���� �� �&��"���, "� � ,"�+ ���"�#� ��!��+ ������) �"���" ���*��# ,
� ���*��+ - ��!��# � #� ����7�# ���"�#� � ��������+  ���������")' , %�"����
��������"�� (��#���+

n2

n1

= exp

(

−ε1 − ε2

kBT

)

(11)

=�� (��#��)��8� ����$������ "�#����"��� "�%�+ �����"��������+ ���"�#�
���&*�$�#� (��#��� (11) ����&�� ���") % ��$� (9), ���%��)%� � $����# ���7��
�#���� (��#��� (9) (��#��)�� ����$����" "�#����"���. P��#��� (11) #�!��
����"� % (9), ���� T  �#���") �� -T .S"�&� ��79� ����") �#��� �"��.�"��)��+ "�#����"��� , �$����# "��  �-
#�7����.

1. 
"��.�"��)��� "�#����"��� �� � ��7�'" �����%������� � �&���") "�#-
����"�� ��!� �&���'"��8� ����. 5�#����"�� ��!� 0A �� ��6 ��"���". 
"-
��.�"��)��� "�#����"��� � (��#��)��+ "�7%�  ����� ��! �" ��9� T = ∞
(�# .���.3).5��� ��� �"��.�"��)��* "�#����"���* ”8���7��”, 7�# ��� ����!�"��)��*.5�#����"����� 9%��� �" *���$��* "�� % 8���7�# �#��" ��$

+0K, ... + 300K.... + ∞K,−∞K, ...,−300K, ... − 0K

R��� ������"�, �����#��, � "������+ %��"�%" $�� ���"�#� � T = 300K �
T = −300K, "� ���"����� ���"�#� � ������ #�#��"� ���#��� &�$�" �#�") "�#-
����"��� �� 0A , � ±∞.

��� "�#����"���* ±∞  ���������"� ���* ������+, �
���"��"�"��� � (��#���+ (9), � ���$��# &�$�" �$���%��� .

2. ���"�#� � �"��.�"��)��+ "�#����"���+ �� �����"�� ����������+. � ���%-
"�7��%�*  �$�7�* ���"�#� � �"��.�"��)��+ "�#����"���+ �*�$�" %�% 7��") �
���"�#� � ����!�"��)��+ "�#����"���+. �����#��, ���"�#� �$����* ������,
�#�'6 �� �"��.�"��)��' "�#����"���, ��� ��� � �"�#�#� ��9�"%�, %���&����
%�"���+ ���8$� *���%"��� �'"�� %���7��+ ����!�"��)��+ "�#����"���+ ("�#-
����"���+ ��9�"%�). R��� "�%�' ��##����' ���"�#� � �������"), "� ��� �
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"�7����# ���#��� ���$�" � ���"����� ���������� � &�$�" �#�") "�#����"���
��9� �������7��)��+ "�#����"��� ��9�"%�.

3. � �����$����# ����#�"����� �7��) ��!��, 7"� ���"�#�, %�"���� #�!�" ��-
��+"� � ���"����� � �"��.�"��)��+ "�#����"���+, $��!�� �&��$�") %���7��#
7����# ,���8�"�7��%�* ������+. � ���"����# ���7�� �"��.�"��)��+ "�#����-
"��� &�$�" ���"��"�"����") &��%���7��� ,���8��. �����#��, $�� ���"���"��)-
��8� $��!����, ���%"� ,���8�� %�"���8� � #����"�� �" 0 $� ∞ (����"����"-
�%�#� ,((�%"�#� �����&��8��"��), $��"�!���� ���"����+ � �"��.�"��)��#�
"�#����"���#� ���� #�!��. ���) � �� $�") #�%��������%�� ������$������ �
�"��.�"��)��+ "�#����"���+.��$7��%��# �6 � �� , 7"� ���$���� �"��.�"��)��+ "�#����"��� - ,"� �����&
�������� 7��"��8� ���7�� ������������+ ���"�#� , � %�"���+ ������$������ 7�-
�"�. �� ������# �����"������� �� �"��9���' % ����������#� 5�%�� ���"�����
#�!�� �� $�") $�� ���"�#� � �$���%���#� ��"������#� #�!$� ������#� ,���-
8��. R��� !� ���"�#� ������+ $��"�"�7�� ���!��, "� ���) � ����"�# �����&�#
���������")  ���������"� ������+ � �"��.�"��)��� "�#����"��� $�� "�%�+ ��-
�"�#� �� �#��" �#����. T�!�� 8�����") ��9) �& �"��.�"��)��+ "�#����"���
�� �"$��)��* ������* � ��������+  ���������")' .

5 C1EWMHG 4 ¥3 HFME4O

>�"����� �����$��!�" % 7���� ��!��+9�* ����"�+ (� �%�. ���$����� � 1865
8. A��� ����# � ��#%�* "��#�$���#�%�, ,�"����� ���7��� &��"��  ��������
$��8�� �&���"� (� �%�, � ��"�# �����%�� � � �#�!��� ���%�, �����#��, � "�-
���' ��(��#�.��.

����"�� ,�"����� � ��#�8� ��7��� �%� ����) "��$��# $��
�������"�� � �"��7�� �" "�#����"��� . >"� "��$���"� ��*�������) � ��+7��
$�� "�*, %"� �������  ��%�#�"�� � "��#�$���#�%�+. 
�� ����" 7��"� ���*�-
��8�7��%�+ *���%"�� � ��� ��� � ���� #�!���")' �������$�"�����8� ������-
�"�� ,�"�����, � �"��"�"���# ”8��$����%�”, %�"���+ &� � #���� ,�"����' ,
%�% � #���'" "�#����"���. �#��"� � "�# , &���� 8��&�%�� ����#���� "�#��-
��"��� ,  ����9��9���� (��#������%�+ ”������8� ��7���”, ��%� ����", 7"�
����"�� "�#����"��� � ,�"����� �$���%��� �� ���!���"�.

����"�� "�#��-
��"��� ���$�"�� ”������# ��7���#”, ����"�� ,�"����� - ”�"���# ��7���#”.
� (��#������%� ?�##��(��)$� ���  ��7�" "�%: ”A�!$�� "��#�$���#�7��%��
���"�#� �&��$��" (��%.��+ ���"�����, �� ����#�+ ,�"�����+. >�"����� ��7�-
����"�� ���$�'6�# �&�� �# . ���"�#� ������$�"�� � ���� ���)�� ��&�����8�
��7��)��8� ���"����� � ���"��"�"��'6�� %���7��� ���"����� 7��� �����$���-
"��)���") ���"����+ ����������, ��7����'"�� ��� ��$��$�#�� ��� ,"�# ���.��
"���� δQ, $���"�� %�!$�� �� ���"��"�"��'6�' �+ �&���'"��' "�#����"��� �
��� ����7����� "�%�# �&�� �#  ��7���� ��##���'"��. ��� ����)��* ( � ��-
���#����+ "��#�����8�� ���&��"�#�*) ���.����* ,�"�����  �#%��"�+ ���"�#�
�� ���"��"”.5�%�# �&�� �# ,

S =
∑ δQi

Ti
(12)
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-V1 V2 − V1 V2

b bb

bbb

b b b b

b b b b b

b

-�� 4:

���
∆S = SA − SB =

B
∫

A

δQ

T
(13)

��$7��%��#, 7"� ��&�� �"$��)��* �&��"�#�* ���.����� � (12) ��� ��"�
��"�8��������� � (13) #�!�" �� �#�") ��7�8� �&6 �8� � "�# , %�%�# �&�� �# �
$�+�"��"��)���"� ���"�#� ����*�$�" � ���"����� � � ���"����� <

. -���)���
���.���� , %�% �������, ���&��"�#� . 
$��%�, � ������"��* (12) � (13) δQ ��-
�"��"�"��'" �&��"�#�# ����*�$�# .

���%��)%� ,�"����� �����"�� (��%.��+
���"�����, ".�. ����7���+, %�"���� ��  �����" �" "�8�, %�%�# ��"�# &��� $�-
�"�8��"� ,"� ���"�����, "� ��&�� ��"� �&��"�#�8� ���.���� �� �#��"  ��7����.

� %�7��"�� ���#��� ����#�"�� � #������ ,�"����� ��� ���9������ 8� � �
���"�"�.

���") �������7��)�� 8� ��*�$���� � �&:�#� V1, �&:�# V2 −V1 ���"�+
(�# . ���.4).����� �$������ ����8���$%� 8� ���&�$�� ���9����"��,  ���#�� ���) �&:�#
V2. >"�" ���.��� �����"�� ���&��"�#�# . @� ��#����� ���)�� �� #�!�" ���-
��")�� � �������7��)��� ���"�����,".�. ����� �%� �")�� � �&:�#� V1 (�����"-
���") "�%�+ 8�8��"�%�+ (��%"��.�� 7�� ��7�+�� #���). � ���"��"�"��� ��
�"���# ��7���# , ,�"����� � "�%�# ���.���� $��!�� �� ���"�"). �#��"� � "�# ,
����7���

V2
∫

V1

δQ

T
= 0 (14)

".%. ���9������ 8� � �����*�$�" &� ��$��$� "����. 
9�&%� � �����!$����
���"��" � "�# , 7"� ����!���� (14) �� �����"�� ,�"�����+. � (��#��� (13)
�"��" δQ, ���"��"�"��'6�� #�������#� �&��"�#�#� ���.����. � %�7��"�� "�-
%�8� #����#�8� ���.���� �$�&�� ��&��") �&��"�#�+ � �"��#�7��%�+ ���.���
���9������ � �7��"��# ���9�� � � ��$��$�# "���� δQ(�# .���.5).

� ,"�# ���7�� � ���"��"�"��� � �����# ��7���# "��#�$���#�%� δQ = dU +
pdV . R��� �8����7�")�� ���7��# �$���)��8� 8� �, $�� %�"���8� U  �����"
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"��)%� �" "�#����"��� � ��,"�#� dU = 0, "� δQ = pdV �

∆S = SV2
− SV1

=

V2
∫

V1

pdV

T
= Rln

V2

V1

(15)

-��7�" �����$�� $�� �$��8� #��� 8� �, ��,"�#� pV = RT .
�����#�� % ����� � ��#�8� ����"�� ,�"�����. �"���� ��7��� "��#�$���-

#�%� ���$�" ,�"����' (��#��)��# ��"�# %�% ��%�' ����' (��%.�' ���"�-
����, �� ��%����� �� (� �7��%�8� �#����. 5��#�$���#�%� �� ��"���������"
��� ) ,�"����� � ���"�����#� #���%������#� ���+�"��#� ���"�#� � �� $��"
�����&�, � ��#�6 )' %�"���8� ,"� ��� ) #�!�� ��"�����"). � ,"�# ���"��"
�������� "��$���") $�� ���*, ��7���'6�* � �7�") "��#�$���#�%�.

���+�"�� � (� �7��%�+ �#��� ,�"����� ���%�����"��, %�% � � ���7�� � "�#-
����"���+, � ��#%�* �"�"��"�7��%�+ (� �%�.

���!$�, 7�# �&��!$�") (� �-
7��%�+ �#��� ,�"�����, �"��"�# �� ������,  �7�# ��"��&������) ���$�") ,"�
����"��. � ���%"�%� "������* � #�����+ "�7�� (�%�����"�� %���7��"�� "�-
���"� , ����$����� � �"��"�� � "��� � ����$������# ���.����. �����#��, ���
��8������� 18 ��$� �� 1o� ���&*�$�#�  �"��"�") (���&��!����) 1 %�����' (1
%��=4, 1868 =!). � $��8�+ �"����� , 8�����") � %���7��"�� "����"� , ��$��! �-
6�+�� � "���, &���#�������. 5���� #�!�" ����*�$�") � ��&�"�, �� $���")�� ���
"�����, �� �� ��*�����"��. � �&6 �# ���7�� #�!�� �%� �"), 7"� "���� ����$�-
�"��, �� �� ��*�����"��. ��*����'6�+�� ����7���+ � ����$������* �������*
�����"�� ,�"�����. �����#��, ,�"����� ��*�����"�� ��� �&��"�#�# �$��&�-
"�7��%�# ���.����, %�8$� �"��"�"���" ����$�7� "����. � #������ ,�"�����
��� �� ���6 ���� ���"�#� � ��*�$��� ���"����� ����� ���� ���)��8� %��8���8�
�&��"�#�8� ���.���� "�%!� ����� ���' . >"� ���$��" � ���"��9���� (2), %�-
"���� #�!�� ��������") � ��$�

Q1

T1

− Q2

T2

= 0

�����6 ���� ,�"����� �� � �"��#� 1-2 %�#��������"�� �&������# ,�"����� ��
� �"��#� 3-4. � #������ ,�"����� �� �$��&�"�* 2-3 � 4-1 ����� ���' .

- V1
V2 − V1Q

b bb

bbb

-�� 5:
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-

T1 T2 T1 − ∆T T2 + ∆T

n1 n2 n1 n2

t = 0 t = ∆t

-�� 6:

� (�%"� �� ���6 ���� ,�"����� % ����#� �������7��)��#�  ��7���' ��-
��� ���� ���)��8� �&��"�#�8� %��8���8� ���.���� ���$��" ����$ , 7"� ,�"��-
��� � $����# ���"����� ��  �����" �" �����&� $��"�!���� ,"�8� ���"�����, �
����$����"�� ����#�"��#� ,"�8� ���"�����, ".�. �����"�� (��%.��+ ���"�����,
%�% �"���!$��" �"���� ��7���. 5�%�# �&�� �#, #�!�� 8�����") � %���7��"��
,�"����� � $����# ���"�����. � ,"�# ����.�����)��� �"��7�� ,�"����� �"
"����"� . � �&6 �# ���7�� $�� ,�"����� ��"  �%��� ��*�������. ��� �&��"�-
#�* ���.����* ,�"����� #�!�" ����*�$�") �" ���"�#� % �%��! �'6�+ ���$�
� ���&���".

��� ���&��"�#�* ���.����* ��##����� ,�"����� #�!�" "��)%�
�� ���"�").�����$�# ���%��)%� ���#����. ���") #�!$� $��#� �$���%���#� "���#�,
�#�'6�#� "�#����"��� T1 � T2, ��"���������"�� "������+ %��"�%". ����"�
%���"%�+ ���#�!�"�% ���#��� ∆t "���� ��7����" ����*�$�") �" �$��8� "��� %
$��8�#� (�# .���.6).

��+$�# ��##����� � #������ ,�"�����.
5��� � "�#����"���+ T1  � ���#�

∆t ����$��" "��� � "�#����"���+ T2 %���7��"�� "���� dQ1 = −mc∆T1 ( ��%
∆T1 ��%� �� ����$����), � "��� � "�#����"���+ T2 ����7��" dQ2 = mc∆T2, �
- �$��)��� "����#%��"), � m - #���� "���. ���%��)%� dQ1 = −dQ2, "� ∆T1 =
−∆T2 = ∆T . � #������ ,�"����� %�!$�8� "��� ����� ∆S1 = −mc∆T/T1 �
∆S2 = mc∆T/T2 (�7�"��"��, 7"� ∆T/T1, ∆T/T2 << 1). C�##����� � #������
,�"�����

∆S = mc∆T (
1

T2

− 1

T1

)

� � #������ "�#����"���
∆T =

T1T2

mc

(

∆S

T1 − T2

)

���%��)%� ∆S > 0, "� ∆T &�$�" �#�") "�" !�  ��%, 7"� � T1 − T2. >"�  ��7�",
7"� ��� T1 > T2 "���� &�$�" ����*�$�") �" 8���7�8� "��� % *���$��#�.���.��� ����*�$� "���� #�!�� �$���") �&��"�#�# , ���� "�����&#�� #�!$�
"���#� � "�#����"���#� T1 � T2 ���6 ��"���") � ��#�6 )' .�%�� A����. � ,"�#
���7��  � �$�� ���#�+ .�%� A���� "��� 1 "����" ,�"����' ∆S1 = |Q1|

T1

, � "���
2 ����&��"��" ,�"����' ∆S2 = |Q2|

T2

, ���7�# � ���"��"�"��� � (��#���+ (2)
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∆S1 = ∆S2, �$��%� |Q2| 6= |Q1| . A���7��"�� "����, ������ �� ���"� |Q1|− |Q2|,����*�$�" � ��&�"�.
R��� "����)  ��"���") #�9��� A���� ��&�"�") � ���"�������!��# �����-

������, ".�. �� ����7�") ���8��9 � ��$� ��&�"� , �  �"��7���") ���9�''
,���8�' �� ���� ��$�"�� ��&�"� , "� #�!�� ���6 ��"��") ����*�$ "���� �" *�-
��$��8� "��� % 8���7�#�.

5�% ��&�"��" *���$��)��%. �����$���"��)��� ���6 �-
�"������ ���#�8� � �&��"��8� .�%��� A���� �&����7����" �&��"�#�+ �������
"���� ���7��� �" 8���7�8� "��� % *���$��#�, � ��"�# ���&���".

���&*�$�#��") ���$���� ,�"����� �� �8����7����"�� ��"��&���")'  �#���
%���7��"�� "���� �� (��%.�' ���"�����. ��� "��#�$���#�7��%�� ����7���
�&�� �'" ���� , �* �� ���'" ����#� �����!����* ����7��. �����#��, $����-
��� � �&:�# . 
�� �*�$�" � ����!���� $�� ��&�"� ∆A = p∆V . A�%�� ����7���
�����!��� "�#����"��� ?

���%��)%� ����!���� $�� %���7��"�� "����, ����-
$����8� � �&��"�#�# ���.����, �#��" ��$ ∆Q = T∆S, "� #�!�� 8�����"), 7"�
�����!����+ ����7���+ $�� "�#����"��� �����"�� ,�"�����. � ���$����# ,�-
"�����  ����9���� ,"�� (��#�������� �������* ����"�+ "��#�$���#�%�.

6 ¦4[4 1LJ4£ LD Z LW ¥3 HFME44
. V F43¡4E §MW X¡

-DG3G
.

P� �7��%�+ �#��� ,�"����� �������"�� ��� ����#�"����� #�%�����"����+ ��-
6��"��. ;��).#�� &�� �����# , %"� ��"������ ��� ) ,�"����� � �����"���")'
���"�����. � (��#������%� ����%� �"���!$����, ����!�'6 �� ,"� ��� ) �
�� ����#�� ����.���# ;��).#���, ���$�"�����"�� ����"�+ (��#���+

S = kB ln W (16)

��# ;��).#�� ��%�8$� �� ����� ,"�+ (��#��� . >"� �$���� ����%. R#� !� ���-
��$��!�" ���$���� ���"�����+ ;��).#��� kB.

5��#�� ”����.�� ;��).#���”
&�� ���$�� >+�9"�+��#.5��#�$���#�7��%�� �����"���") ���"����� W ��� �"�"��"�7��%�+ ��� ,"�8�
���"����� - ,"� 7���� �����&�� (7���� #�%�����"����+), � ��#�6 )' %�"���*
#�!�� ����� ���") $����� ����������� #�%�����"�����. �� %���"���# � �%�
�"�"��"�7��%�+ ��� ��� %��"���") ����!$���� ����� 7���� �� ��7��* %���-
"���* ���"����+ � $����+ ,���8��+.��$7��%��#, 7"� "��#�$���#�7��%�� �����"���") W �"��7��"�� �" #�"�-
#�"�7��%�+ �����"���"�, %�"���� ���8$� ����!��"�� ��%�"���+ $��&)' , #��)-
9�+ ��� �����+ �$���.�. �%� ����� �� ��7�� ����6 ��"�����, ���%��)%� �
&��)9���"�� ���%"�7��%�* ���7�"�� ��7�����"�� �� ���") ,�"����+ S − S0 =
kB ln W/W0, ".�. �"����"��)��� �����"���") W/W0.��"��������� ��� � #�!$� �"��) ���*�!�#� ����"��#�, %�% ,�"����� � ��-
���"���"), �����"�� ��!��+9�# ���7��# $��"�!����# . >�"����� � �����"-
���") - ����7��� �� ��+ �����$� . >�"����� - ����7��� (� �7��%��, � "��#�-
$���#�7��%�� �����"���") - #�"�#�"�7��%��. S��������  ��7���� (� �7��%�+
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����7���  �����" �" ��&�����+ ���"�#� �$���., #�"�#�"�7��%�� ����7��� -
,"� 7����, 7���� �����&��. ��8����������") ����+ � �����+ 7��"�+ (16) �&����-
7����"�� ���"�����+ ;��).#���. >"� !� ���"������ �&����7����" �����$����
"��#�$���#�7��%�+ ,�"����� � ,�"�����+, ����$����#�+ � ����.��� ;��).-
#���.��%�!�# ,"� �� ���#��� ���&��"�#�8� ���9������ �$���)��8� 8� �, ���-
�#�"�����# � ���$�$�6 �# �� $���, ".�. ����7�# (��#��� (15) � ��#�6 )' (��-
#��� (16).

���") � ��7��)��# ���"����� � 8�  ���#��" �&:�# V1, � � %���7��#
���"����� <

- V2. -���#�"��# ���7��� �$�� 7��"�.�.
5��#�$���#�7��%�� ��-

���"���") ��*�!$���� �$��+ 7��"�.� � ���� ���)��# �&:�#� V &�$�" ������-
.�����)�� V. =�+�"��"��)��, �� �&)�# #������� ���) �&:�# V �� n �$���%���*
�7��%, %�!$�� � %�"���* ���"��"�"���" �$��#� ���"����' .

S�# &��)9� �&:�#
V, "�# &��)9� �7��%, ".�. "�# &��)9� �� #�!��* ����������"��* ���"����+.
-� #�� �7��% �� ��6 ��"�����, ���%��)%� ��� ��"������" �"��9���� �����"��-
�"�+.

5�%�# �&�� �# ,
WB

WA

=
V1

V2

(17)

���%��)%� � �$���)��# 8� � � ��#�$�+�"���# 7��"�. #�!�� �����&��7), "� ��-
��!���� (17) ������$���� $�� �'&�+ #���%��� , � $�� ���* N 7��"�.

WB

WA
=

(

V1

V2

)N

(18)

������# (��#��� (18). =�� �$��+ 7��"�.� 7���� ���"����+ � � ����� n. =��
$��* 7��"�. 7���� ���"����+ &�$�" n2, ".%. ��� %�!$�# � n ���"����+ �����+
7��"�.� �� #�!�� n ���"����+ �"���+ � ".$ .

=�� �$��8� #��� (N = NA = 6, 02 · 1023)

SA − SB = kBNA ln
V2

V1

= R ln
V2

V1

,

7"� �����$��" � (15).����.�� ;��).#��� �� �����" ����") ���7��� ���"� ,�"����� ��� ���&��-
"�#�* ���.����*.

���$����!�# , 7"� #� #8������� �&����# ����8���$%�, ��-
�$���'6�' �&:�#� V1 � V2 − V1.

����$ %�!$�+ 7��"�.�+ 8� � �������"��
�� #�!���") ��&���") � ����* ���"�����*, ��$��! �6 �*�� � �&:�#� V2 − V1.�����"���") "�8�, 7"� ��� 7��"�.� ����� ��&���"�� � �&:�#� V2 ������.��-
���)�� (

V1

V2

)N

, ".�. ��7"�!�� #���. � ����.���, ��� �"��7��"�� �" ����, ��
$�� $��"�!���� ,"�8� ���"����� ��� N ∼ NA ��"��&��"�� ���#�,  ��7�"��)��
�����9 �'6�� ���#� ��6 ��"������� ��������+.

5�%�# �&�� �# , ��� ���&��-
"�#�* ���.����* ,���'.�� ���"�#� �$�" � �"����� �������� ����* �� ���"�*
���"����+, ".�. � �"����� �����7���� �����"���"� W, �, ���$���"��)��, � ,�-
"�����.

=� ��* ��� ��7) 9�� �& � #������ ,�"����� ��� ����*�$� � �$��8� ���"��-
��� � $��8��. � %�%�* ���$���* � #���'"�� �&���'"���  ��7���� ,�"�����? �
���"��"�"��� � "��")�# ��7���# "��#�$���#�%� ,�"����� �'&�+ ���"�#� ���

21



T → 0 �"��#�"�� % ���' . � ���"��"�"��� � ����.���# ;��).#���, ���"����� �
S=0 ���"��"�"���" "��#�$���#�7��%�+ �����"���"� W=1. P� �7��%� ,"� � ��-
7��", 7"� ����#�"�����#�� ���"�#� #�!�" ��*�$�")�� "��)%� � �$���"�����#
#�%���%���7��%�# ���"�����. =��8�* #�%�����"����+ �� ��6 ��"���".<&���'"��+ ���*��+ 8����.� ,�"����� �� ��6 ��"���". ?��7���� ,�"�����
 �����" �" ���"�����+ ,���8��, �&:�#� � $��8�* ����#�"��� ���"�#� . R��� #�
�� $�$�# ������������� ���"����� � � ����������+ �&���7%� (�����#��, ��"�#
� ���� � � ����������# �" ���9��+ ���$� &��%���), "� ,�"����� "�%�+ ���"�#�
&�$�" �� ���#���# �� ���"�") � $��"�8��" #�%��#�#� � ���"����� ����������.
P� �7��%� ,"� � ��7��", 7"� � ���"����� ���������� ���"�#� �&��$��" #�%��-
#��)�� �� #�!��# 7����# #�%�����"����+, � ��#�6 )' %�"���* ����� ��"��
$����� #�%�����"�����.

7 CF4ID¨ GW X3M1 © 1LH041 ¥3 HFME44

���$� ���* (� �7��%�* ����7��, ��9�$9�* � ���%� � XIX ��%�, ,�"�����  ���-
#��" ���&�� #��"� � ���� ����+ ���&�%�������+ ��$)&� . � ��#�8� ��7��� ,�-
"����� �"���$����) � "����� "������* #�9��. 
$��%� �7��) �%��� ��#%� ,"�+
"����� �%� ����) �+ "���� � ��� �����%�� � $��8�� �&���"� (� �%�, ���!$�
���8�, � "����' � ��7���� (�#. �.7.1). >%������� ,�"����� ,"�# �� �8����7�-
���). � �"��7��, �����#��, �" $��8�* "��#�$���#�7��%�* ����7��, ,�"�����
$����)�� &��"�� ����9�8���� 8����.� (� �%�. 
�� �"��8���) � �#�!��� �&��-
�"� : %��#���8�' (�# . ��.7.2 � 7.3 ), &����8�' (�# . �.7.4), �, ��%���., � "����'
��(��#�.�� (�#. �.7.5 ).

5���#(��)��� 9��"��� ,�"����� ���$��! ��"�� �
�� ,"�# ��"� � &�$�6 �# #�8�" &�") ����7��� �7��) ��"������� �� ��)"�"� .
?$��) !� #� �8����7�#�� "��)%� %��"%�# ����#�"�����# ����7�������* ���-
#����.
7.1

�ª«¬­®¯° «±®²­³­´­ ¯µ²¶·±ª¯°
5������� ("�#����"�����) � ��7���� - ,"� ,��%"��#�8��"��� � ��7����, ��*�-
$�6 ���� � ���������� �� �"��%�#� ����$�, �8����7���'6 �# �8� �&:�# .

5�%��
� ��7���� ��6 ��"���", �����#��, � "��%� � ���"�����+ "�#����"���+ �"���%.

������+ %�#�����" �����7��8� � ��7���� - ����������� � ��7���� (�"��( ���
- ���&��!���� #�!�� "�%!� �7�"�") ����������# � ��7����# , ���"��"�"��'-
6�# "�#����"��� �����*���"� ����.� (�����8 �"���%), ���&��!���� �����+
6000 A .

� �����#����+ (� �%� ���%"���)��� ���"���") ,���8�� "������8� � ��7����
Uω(T ) ����7�"����"��, ��*�$� � ���$�"������+ �& � ��7���� %�% � ����%����-
�"� 7��"�. - (�"����, ��$7���'6�*�� �"�"��"�%� ;� � - >+�9"�+��. � ��#%�*
,"�+ �"�"��"�%� Uω(T ), �"�������� % �$���.� �&:�#�, ����!��"�� � ���"��+
(��#���+ ����%�

Uω(T ) =
h̄ω3

π2c3

1

exp
(

h̄ω
kBT

)

− 1
(19)
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��# ����% ����7�� ,"� (��#��� � 1900 8.  � 24 8�$� $� (��#������%� %���"�-
��+ �"�"��"�%� ;� � - >+�9"�+��, ��"�����"���� �#�'6 ���� ,%�����#��"��)-
��� $����� � ���%"���)��+ ���"���"� ,���8�� � ��7����.�������7��)��+ *�$ �����!$���+ ����%�, �����$9�+ �8� % ����$� (��-
#��� (19), ������� �� "��#�$���#�7��%�* ���$�"�������*.

B������&�� �� ���-
���"� ,"�" ����$ [4].

=� ����%� $�� Uω &��� � ���"�� $�� ����!����: (��#��� ����, ������$-
����� � �&���"� #���* $��� ���� (��� &��)9�* 7��"�") � (��#��� -,��� -
=!����, ������$����� $�� &��)9�* $����* ���� (��� #���* 7��"�").����% ���$��!�� ��"������.�����' (��#��� $�� �'&�* $��� ����, � %�-
"���+ �&��"��� ����7��� �"���+ ���� ��$��+ ,�"����� �� ,���8�� ���$�"�-
������) � ��$� ��##� ���"��"�"��'6�* �&��"��* ���� ��$��*, ����7����* �
��#�6 )' (��#�� ���� � -,��� - =!����. � ,"�+ (��#��� �������$�"����� �
���$��" (��#��� ����%�.

>"�" ����$ �� �$����"����� ����%� � ���� ���&����������"� ��"������.�-
����+ ���.�$��� (??) � �� ������ ����� $�%� �"��)�"�� ������$�����"� (19).
� ������ ,"�8� $�%� �"��)�"�� ��! ��� (��#��� ;��).#��� S = kBlnW � �����
8���"� � � %���"������ ,���8�� ��.����"���.��$7��%��#, 7"� ��� ���* ������"�* ����$� (��#��� (19)

����% ��*�$��
� "��#�$���#�7��%�* ���&��!���+.

5��#�$���#�%�, � ���� ����+ �&6 ���"�,
�#�8�� ��������") �$�' %���"������, �� � #���� ����* �����. ;���� "�8�, "��-
#�$���#�%� �%� ����) , �� ��6 ��"��, �$���"�����+ ���%�+, �������� ����!����
%�"���+ �� ��%���&��� %���"���� �����'.��.
7.2

�ª«¬­®¯° ·±¬ª¸¹ º¸ ¬
���$� ��&����* "�� ���&�� #��"�  ���#�'" 7����� $��� . >"�" %���� �&:-
�%"�� *���%"��� ��"�� "�# , 7"� �* ���� "�8�"���� �"��) ����%�, 7"� ��%�%��
7��"�.� , �%�'7�� %���"� ���"�, �� #�8�" �����")�� � ��"�� "�%�8� �&:�%"�
� �+"� �� &��%���7���"). ���#�* $�%� �"��)�"� ��6 ��"������� 7����* $��
� %��#��� ��%� ��". 
$��%� &��)9���"�� (� �%�� �7�"�'", 7"� ���"8�����%��
��"�7��%� � ��%�"���* $��+��* ���"�#�* ���$�"����'" ��&�+  �� $��� 7�����
$��� . A��#� "�8�, ���$����8��"��, 7"� ��"�������� � ��7���� �$�� 8���%"�%
� %�� ���� ��") �� ��)"�" ��6 ��"������� #�������* � ����*#�������* 7����*
$�� � .��"�� ,"�* �&:�%"��.

� "�7%�  ����� %�����7��%�* ���$�"������+ 7����� $��� $�� ���9��8� ��-
&�'$�"��� - ,"� �&:�%", � %�"���8� #�!�� � #���") "��)%� 8��&��)��� *�-
��%"����"�%� : #����, ���6 �"��)��+ #�#��" � �����+ ,��%"��7��%�+  ���$.5��#�$���#�%�, �  �"�# � %���"���� #�*���%�, ������ ���� %����%"��� � ,"�
"�7%�  ����� [5].

-���#�"��# ����"�+9�' ��"��.�' .
���") � ���� ���"�!���� 7����+ $���

������ 8���7�� "��� � ��%�"���#  �����# ,�"�����.
S����� $���, � %��.� %��-

.��, ��8��"�" "���. � ���"��"�"��� �� �"���# ��7���# "��#�$���#�%�, ������
,�"�����  �#%��"�+ ���"�#� ( 7����� $��� ��'� "���) �� #�!�" �#��)9�"��.
���$���"��)��, ��8��6 ����� "��� $��!�� �����7���") ,�"����' ��#�+ 7����+
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$��� �� ����7���, �� #��)9�' ��*�$��+ ,�"����� "���. 5�%�# �&�� �# , 7��-
��+ $��� ���$��" �������") ,�"����' , %�"���� "�%!� $��!�� �*�$�") � 7����
��&�'$��#�* ����#�"���. �������� 7����+ $��� ,�"����' , ���&*�$�#� ���-
����") �+ � "�#����"���. � ,"�# ���7�� 7����� $��� ���"����" %�% ��"�7��%
� ��7����.

P� �7��%�+ #�*��� � � ��7���� 7����+ $��� ���"��" � ���$�'6�# . � ���)-
��# ���� "�8�"���� 7����+ $��� �� �� �����*���"� ��!$�'"�� ���� (�"����
( � $��8�* 7��"�.). >���8�� ,"�* ��� (�"���� ����� ���' , ��,"�#�  �%�� ��-
*������� ,���8�� �� ����9��"��. ����� ��!$���� ���� (�"���� �$�� � ��*
�*�$�" � 7����' $���, ����&���� �"��.�"��)��' (��"��.���)��') ,���8�' .
� �"���+ ����&��"��" ����&�$��9�'�� ����!�"��)��' ,���8�' � �*�$�" ��
&��%���7���").5��#�$���#�%� �� �����" �$���") �6 � �$�� ��6 ��"�����+ ����$ . ��8�����
�����#����# ����"�������#, �$��# � #�*��� #�� �&�� ������ 7����* $��
�����"�� 8����"�.������ �! �"�� ��6 ��"�� � "�%�* �������*, %�8$� ���"���$�+-
�"��� ���"�����8� $������� �! �"�'  � �7�" 8����"�.�����* ��� �%� ����"��
��$��"�"�7��# . A�% ��$�" ��&� ,�"����� � ���.���� �! �"��, �����$�6 �8� %
�&�� �����' 7����+ $���?

>�"����� 7����+ $��� #���� T �� "����"�7��%�# �.��%�#
S ∼ kB · 1075

(

M

MΘ

)2

8$� MΘ - #���� ����.�.
>�"����� "�%�+ !� �!�#�'6�+�� #����

S ∼ kB
M

m
∼ kB1057

M

MΘ

8$� m = 1, 6 · 10−24 8. ��� ��������� ,"�+ (��#��� ���$����8����), 7"� �� %�-
!$�' 7��"�.� #���� m ���*�$�"�� ,�"����� ����$%� ���"�����+ ;��).#���
kB. ����#��# , 7"� � ���"��"�"��� � ����.���# ;��).#��� #��9"�&�# � #�-
����+ ,�"����� ���!�" ���"������ kB.

� ��������� �����$��* $��* (��#�� ��$��, 7"� ���.��� %������� � �&�� �-
�����# 7����+ $��� ���)�� ���&��"�# . >�"����� � "�%�# ���.���� �� ���"��"
��7"� �� 20 ����$%�� ��� M ∼ MΘ.

7.3
�ª«¬­®¯° »¼±²±ªª­½

,
«±­¬¯° «±²­³­½ ¼¾±¬«¯

���&���� $��#�"�7��%�� (��#������%� �"���8� ��7��� �����$��!�" A��� �-
���:

1. >���8�� T��� ���"�����.
2. >�"����� T��� �"��#�"�� % #�%��#�#�.
� ,"�+ (��#������%� ���$��", 7"� � %��.� ,���'.�����8� ���.���� ������-

��� $��!�� ���+"� � ���"����� "��#�$���#�7��%�8� ���������� ( � ���"�����
”"������+ �#��"�”), %�"���#� ���"��"�"���" ������ $� ��8��� �.�� ���"�#� .
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���$�"������� � ”"������+ �#��"�” ��������+, ��"�%�'6�� � (��#���-
���%� 2-8� ��7���, ���$��!����+ A��� ����# , ���$�"�����" ��&�+ ���#�� ��-
�����#����8� �����������  �%���� "��#�$���#�%� � �&���"), 8$� ��� �!� ��
��&�"��".

?�%��� "��#�$���#�%� ���#���#� , %�% � ���"��, "��)%� % "��#�$���#�7�-
�%�# ���"�#�# .
$��# � �&� �"��)��* ��� ��%�� "��#�$���#�7��%�+ ���"�#�
�����"�� �$$�"�����") ��%�"���* �� *���%"����"�%, �����#��, ,���8��. >"�
���+�"�� ���"��" � ���$�'6�# . R��� ����������' ���"�#� �� &�") �� �"$��)-
��� ����������� #�%���%���7��%�� 7��"�, "� ,���8�� ���+ ���"�#� &�$�" ��#-
#�+ ,���8�+ �"$��)��* �� 7��"�+.

5�%�# �&�� �# , ,���8�� ���"�#� $��!��
&�") ������.�����)�� �� �&:�#�. >"�# ��� ��%�# ��������� �� �&��$��".
@����"�.������ � ��#�$�+�"��� �����"�� $��)��$�+�"��'6 �# � ��,%������-
�#�# , ��,"�#� 8����"�.������ ,���8�� ��������+ �� ������.�����)�� �� �&:-
�#�.

������ ,���8�� ��������+ "�%!� �� ������.�����)�� �&:�#� � ��,"�#�
�� �����"�� �$$�"����+ ����7���+. A��#� "�8�, ��������� ���9����"��, ".�.
��� �� ��*�$�"�� � �"�.�������# ���"�����.

5�%�# �&�� �# , 8�����") �& ,�-
"����� ��������+ � "��#�$���#�7��%�# �#���� ���) �, ���%��)%� ���������
�� �����"�� "��#�$���#�7��%�+ ���"�#�+.


$��%� �� ��������+ #�!�� ��$���") ��$���"�#� , % %�"���# ���#���#�
"��#�$���#�7��%�� ��������. 5�%�#� ��$���"�#�#� ����'"��, �����#��, ���
%�#��%"��� �&:�%"� (  �� $� , �����"� � $�.) ��� ����%"���� � ��7���� (
"������� � ��7���� � "�#����"���+ 2, 73 A , �# . �� $�� 3).

-��7�"� ��%� ���'", 7"� ������ ,�"����� ���* ��&�'$��#�* %�#��%"��*
�&:�%"�� ��7"�!�� #��� �� ��������' � ,�"�����+ ����%"���8� � ��7����.���7��� ,"�8�, ���!$� ���8�, � "�#, 7"� 7���� ����%"���* (�"���� �7��) ��-
��%�. �� %�!$�+ �"�# �� ��������+ ���*�$�"�� ���#���� 109 (�"����.

>�"����+��� ����#�"����� %�#�����" ��������+ �� �����" �$���") �6 � �$��
����$.

�� �����#����# �.��%�# , ������ ,�"����� "�+ 7��"� ��������+, %�"�-
��� $��"���� ��&�'$���' , ����$%� 1090kB. � $��8�+ �"����� , ,�"����� ��6 �-
�"�� ,"�+ !� 7��"� ��������+, �%��$�����������+ � 7����' $���, ���"�����"
����$%� 10124kB. ��������� ,"�* .�(� ��%� ����", ���%��)%� $���%� �%��! �-
'6 �� ��� 7��") ��������+ �" #�%��#��)�� �������$�7����8� ���"�����.
7.4

�ª«¬­®¯° ¯ ¿ ¯µªÀ
������ �& �"��9���� !� �� %� �"���#� ��7��� "��#�$���#�%� - ,"� ������
� "�# , �����"�� �� !� �) ”��"���%�# �����"�������” �"���#� ��7���. =�+-
�"��"��)��, ,���'.�� !� �� �� ?�#�� �$�" �" ����"�8� % ���!��#�, � �"����
��7��� "��#�$���#�%� ���$�%� ����" �&��"��+ ��") ,���'.�� - �" ���!��8�
% ����"�#�. �%� ����� ���"�����7�� �&:�����"�� � ��#%�* "��#�$���#�%� ��-
�&��"�#�* ���.�����. U ���+ ��8��� #, %�% �"%��"�� "��#�$���#�7��%�� ��-
�"�#�, ��"��&���" ,�"����� #��)9�, 7�# ��&�������" �� � �%��! �'6�' ���$�.
����7��� ,�"����� � ��6 ���* ���$�%"�* #��)9�, 7�# � ���$�%"�* ��$������.
���#� �����#�, !���+ ��8��� # ��6 ��"���"  � �7�" "�8�, 7"� �#��" �� #�! -
���") ��&����") ,�"����' , ����&�"����#�' � ��# ����$�"��� ���&��"�#�*
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���.�����, � �%��! �'6�' ���$�. �#���� ,"� �&�"��"��)�"�� $��� ����� Q��-
$��8��� �%� �"), 7"� ”��8��� # ��"��"�� �"��.�"��)��+ ,�"�����+”.


"#�"�#, 7"� $�� !���8� ��8��� #� ����$������ ,�"����� ���$�"�����" � -
���"��� "��$���"�, ���%��)%� � ���"��"�"��� � "��#�$���#�%�+, $�� ��7����-
��� ,�"����� ���&*�$�#� �%� �") �����& �� $���� ��� ���7"�!���� ��8��� #�
�&��"�#�# ��"�#.

��� �%� ����� �"����"�� � % !� �� �� ?�#�� � .���# . ?�#�� ����7��" ,���-
8�' �" ����.� � ���%"�7��%� �"��)%� !� �"$��" �� � %��#�7��%�� ����"����"��,
���%��)%� ,���8�"�7��%�� ���"����� �����*���"� ?�#�� � ���$��# �� ���#��� ��
#����"��. >�"����+��+ &����� ?�#��  � 8�$ #�!�� ���&��!���� �.���") ���-
$�'6�# �&�� �# . ����.� ����$��" ?�#�� %���7��"�� ,�"�����, ������ U/Ts,8$� U ≈ πR2

enminκ, Re - ��$��� ?�#��, κ - �����7��� ���"������, ������ %���-
7��"�� ,���8��, ��������#�#� � ��7����# � "�7���� �$��+ #���"� 7��� ���-
6 �$%� � 12, ������$�%������' % �����7��# ��7�# � �������!����' ���  �#��+
�"#��(��� �� ���$��8�$���# ����"����� �" ����.�,κ = 2%��/�#−1#��−1, nmin -
7���� #���" � 8�$�, U = 4 ·1024 %��· 8�$−1, Ts ≈ 6000K - "�#����"��� �����*��-
�"� ����.�. ?�#�� �"$��" � %��#�7��%�� ����"����"�� %���7��"�� ,�"�����,
������ U/Te, 8$� "�#����"��� �����*���"� ?�#�� Te ≈ 300K.

5�%�# �&�� �#, �
.���# ,�"����+��+ &����� ?�#�� �"��.�"��)��+

∆S = 4 · 1024

(

1

6000
− 1

300

)

≈ −1022%�� · 8��$−1 · 8�$−1

. ?�#�� �"$��" &��)9� ,�"�����, 7�# ����7��".
������" ,�"����� �&� ��

���� ��$�"�� ,�"�����  � �7�" ������������* ���.����� �� ?�#��. � 7����
������������* ���.����� � �����' �7���$) �*�$�" ���.���� , ��� ����� � �&��-
��7����# !� ��$��"��)���"� ��  �#��. 5�*��7��%�+ ���8���� "�%!� �����$�" %
���"� ,�"�����, *�"� ��%� ,"�" �%��$ ���"�����" ��9) $��� ���.��"� � �&6 �#
&������ ,�"�����. 
� �"���"  �#�"��# , ���� �����7�"�� � ��"�� �� . ��-
���$�"��� "�%�8� �����7���� &�$�" %�"��"��(�7��%�#�. ?�#��  �$�*��"�� �"
� &�"%� ,�"����� � ����+$�" � ����� ���"�����. �����#��, ���"���" ����%��
���$������, %�"���� ���� �" "�#����"��� ?�#��, 7"� �����7�" �""�% ,�"�����
� %��#�7��%�� ����"����"�� [6].

7.5
�ª«¬­®¯° ¯ ¯ªÁ ­¬¾ÂÃ¯°

.

��� ) #�!$� ,�"�����+ � ��(��#�.��+ #�!�� ������$�") �� ���$�'6�# ���-
#��� [7, 8]. -���#�"��# "��� ��� �&���'"��# ���� "�#����"��� � ���") #�
�#��# �����' ��(��#�.�' � %���$���"�* � �#���)��* %�!$�+ 7��"�.� . =��
����"�"� ����!�# , 7"� �#���)�� ���* 7��"�. ����� ���' . � ,"�# ���7�� "��-
#�$���#�7��%�� �����"���") ����� �$���.�, � ,�"����� - ���' .

��� %���7��*
"�#����"���* ,�"����� � ���������� $��"�8��" #�%��#�#�. T�!�� � #���")
��� #�%������#�"�� , *���%"��� �'6�� $����� #�%�����"�����. 
$��%�, #�
���%"�7��%� ��7�8� ��  ���# � #�%�����"����� ���"�#� .

5�7��� 8�����, #�
 ���#, 7"� $����� #�%�����"����� #�!�� ����� ���") � ��#�6 )' �7��) &��)-
9�8� 7���� #�%�����"����+.
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5�%�# �&�� �#, ������+ ,�"����� ���"��"�"���" ������ ��(��#�.�� (�"�-
���) �� ����� ����� ���'), � #�%��#��)��+ ,�"����� - ������ �� ����� #�%��-
���"����+ (�"����) �� ����� #�%��#��)��).

� "����� ��(��#�.�� ,�"����� ����$����"�� ���$�'6 �# �&�� �# .
���")

P - ��������� �����"���") ��%�"���8� ��&�"�� (�����"���") $� ����7���� ��-
�&6 ����), � P1 - �����"���") ,"�8� ��&�"�� ����� ����7���� ���&6 ����. =��
����"�"� &�$�# �7�"�"), 7"� P1 = 1.

� "����� ��(��#�.�� %���7��"�� ��(��#�.�� ����$����"�� ���$�'6 �# �&��-
 �#.

���") ��"��.�� ��$��!�" P ����������"��* �"��"��. ?����� "�7��8�
�"��"� ( ����� �����$���� ,%�����#��"�) $��" %���7��"�� ��(��#�.��

I = KlgP

�����#��, ��� �8�� � �����%� �� #�!�� $�� �"��"� ( #���"� ��$��" "�+ ���
$��8�+ �"�����+ �� ��� , ".�. P = 2).

��� &������� %��"� � 6 �� #�!��*
������"�� ����$��" 1, ".�. P = 6.

R��� � %�7��"�� ��������� ��8���(#� ��&��") 2 � ����!�") K = 1, "� ���
&������� #���"� #� ����7��# ��(��#�.�'

I = lg22 = 1

.
>"� %���7��"�� ��(��#�.�� �� ����$�����' ����� �$��#� &�"�.
P� �7��%�+ �#��� I - ,"� #��� ��9�8� �� �����. =��8�#� �����#�, I - ,"�

"� ��(��#�.��, %�"���' #� #�!�# ����7�"), ��9��  �$�7�. � ����#�"�����-
#�# ��9� ���#��� - "��� ��� �&���'"��# ���� "�#����"��� - #��� ��9�8� ��-
 ����� ����� ���' , ".%. P = 1.

����� �����$���� ���"� #� ����7��# ������'
��(��#�.�' I = 0, ".%. ��� &��� � ���"�� $� ���"�. R��� ����#�"����") "���
��� %���7��* "�#����"���*, "� $� �����$���� ���"� 7���� #�%�����"����+, �,
���$���"��)��, � P , �7��) ����%�. ����� �����$���� ���"� #� ����7��# �7��)
&��)9�' ��(��#�.�' , ���%��)%� ��# �"�����"�� � ���"��#� %���$���"� �
�#���)�� ���* 7��"�..<����8�� #�!$� ��(��#�.��+ � ,�"�����+ S, ����$����#�+ � ����.���
;��).#���, �7���$��. =��"�"�7�� ����!�") #��!�"��) K �����# ���"�����+
;��).#��� kB � �����) ���") ��"����)��+ ��8���(#. �#���� �� ,"�+ ���-
7��� ����7��� I �� ���'" �6 � ��(��#�.�����+ ,�"�����+. ��(��#�.������
,�"����� ( %���7��"�� ��(��#�.��) &��� ����$����� �� �����8�� � �&�7��+
,�"�����+ � ��� �&��$��" .���# ��$�# ���+�"�, �����6 �* �&�7��+ ,�"�����:
�$$�"�����"), ,%�"��#��)��� ���+�"�� � ".$ . 
$��%�, �"�!$��"���") �&�7��'
,�"����' � ��(��#�.�����+ ���) �, ���%��)%� �� ����, %�%�� �"��9���� �#��"
�"���� ��7��� % ��(��#�.��.

ÄGJWÅ  1341
5�#����"��� � ,�"����� ����'"�� (��$�#��"��)��#� (� �7��%�#� ����-

"��#�. ���7��+ �� ���" ,"�* ����"�+ �� ��7��. 
 %���7��"�����* � #���-
���* ”"����”, 7"� �� ��9�# � �%� ���"��"�"���" "�#����"���, � ���"�� �6 �
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�� ���#�� @������ (� %��.� XVI ��%�). ����"�� !� ,�"����� &��� ���$���
������"��)�� ��$���� (� 1865 8.). � ���$����# ����"�� ,�"����� "�#����"���
����&���� 7�"%�+ "��#�$���#�7��%�+ �#���. >�"����� �#��"� � "�#����"���+
�&�� �'" ���� �����!����* ����7��, �����8�7��' $��8�+ ���� - $������' �
�&:�#�.

5�# ��#�#  ����9���� ,"�� (��#�������� �������* ����"�+ "��#�-
$���#�%�. ���$�'6�+ ,"�� ��7���� � (� �7��%�+ ��"�����"�.�� "�#����"���
� ,�"�����.

5��%"��%� "�#����"��� %�% #��� ���$��+ %���"�7��%�+ ,���8��
#���%�� � 8� � � #�%��������%�# ������$������# �� �%����"�#, � � $��)��+-
9�# %�% #�$��� %�����7��%�8� ������$������ � �"�"��"�%� ;��).#���, P��#�
- =���%� � ;� � - >+�9"�+��, �� ������ ����%���") #��"�% #�!$� "��#�$�-
��#�%�+ � �"�"��"�7��%�+ (� �%�+.

5��%"��%� ,�"����� � ��#�6 )' ����.���
;��).#���, ".�. 7��� �����"���") ���"����+ ��� �8� �"�"��"�7��%�+ ��� �� ��-
���� ,�"����� ��+"�  � ���$��� "��#�$���#�%� � ����������+ �"�"��"�7��%�+
(� �%� � �����%��") � $��8�� �&���"�, �����#��, � "����' ��(��#�.��.

���7��+ ��"��.��� ,�"����� ,"�#� $��"�!����#� �"�'$) �� ��7�����. �
������%"��� �����%������� ,�"����� � ����' �&���") ���%� - � �����8�"�%�,
%�"���� ��������" ��#���8��� �.�' � ��#�* �� ��* ���$�*, �%�'7�� � ��.�-
��)��' .
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